A Leading Institute For Civil Services Examinations

ANSWERS & EXPLANATIONS

GENERAL STUDIES (P) 2025

TEST 20 : GS FULL LENGTH

EXAM DATE : 12-04-2025

QUESTIONS BOOKLET NO. : 512247 =220



1. Answer A
Afar Triangle
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Geologists have found a fault that can create the
world's sixth ocean.

East Africa is home to Africa’s longest geological
feature, the Great Rift Valley.

The northernmost part of the Great Rift Valley
features a large geological depression known as
the Afar Triangle, located in the Horn of Africa.
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The Vaishvik Bharatiya Vaigyanik (VAIBHAYV)
is a fellowship programme to connect the Indian
STEMM diaspora with Indian academic and R&D

Science and Technology (DST), Ministry of
Science and Technology.
Eligibility — The fellowship is open to outstanding
scientists and technologists who are actively ! H T §
YR et (SRt YR @SRaME)
YR ga & Afad (drengai
HRA & fad=h AR (Sfiftars)

|
institutions. H ‘
It is being implemented by the Department of ”

engaged in research activities in their respective

countries. The eligible scientist include: 3
Indian origin (Non-resident Indians (NRI) .s
Persons of Indian Origin (PIO)
Overseas Citizen of India (OCI)
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3. Answer A

e YUva Vigyani KAryakram (YUVIKA) aims
to impart basic knowledge on Space Science,
Space Technology and Space Applications to
the younger students.

e [t is being organised by the Indian Space
Research Organisation (ISRO).

e Students studying in Class 9 within India are

eligible to apply for the ISRO Young Scientist
Programme (YUVIKA) - 2024.
e It is proposed to select 3 students each from

each State/ Union Territory to participate in
this programme covering CBSE, ICSE and
State syllabus.

e Students belonging to the rural area have been
given special weightage in the selection
criteria.
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4. Answer: C

e U-Report is a social messaging tool developed
by the United Nations Children's Fund
(UNICEF) to engage with communities and
gather real-time data on various issues.

e U-Report uses SMS and social media to
conduct polls and surveys, allowing
individuals to share their opinions on different
topics, including education, health, and social
issues.

Answer : D

e The Indian kangaroo lizard is a small to
medium-sized lizard, typically growing up to
10 inches (25 c¢cm) in length.

e It has a slender body, long legs, and a
distinctive head with a pointed snout.

e It belongs to the genus Agasthyagama and has
been named Agasthyagama Edge.

e It has been named Agasthyagama Edge, where
the edge stands for Evolutionarily Distinct and
Globally Endangered.

e Itis endemic to the Western Ghats of India.

e [t is characterised by a reduced fifth toe, these
lizards are inefficient climbers and primarily
inhabit terrestrial environments with dense
leaf litter cover.

e The species is known for its bipedal
movement and can run on its hind legs with its
body held upright, similar to a kangaroo.

Answer C

A SIM (Subscriber Identity Module), also called a

Universal Integrated Circuit Card or UICC, stores

information that uniquely identifies a cellular

subscription.

Embedded SIM

e An embedded SIM is a SIM card that cannot
be removed from a device.

e Traditional SIM cards are made so that they
can easily be swapped out of a phone, so that
core service information can get ported from
one physical device to another.

Electronic SIM (eSIM)

e ¢SIM is a hardware that runs an application
called eUICC, which has storage to hold
multiple SIM profiles at the same time (but
only one can be active), and can be
provisioned remotely, over the air (OTA).

e ¢cSIM is a SIM that can load new carrier
profiles digitally, over the air, which means
one no longer needs to physically swap SIM
cards in their devices.
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7. Answer A

e D-SIIs — D-SIIs are insurance companies
which are perceived as 'too big or too
important to fail' (TBTF) based on their size,
market importance, and domestic and global
interconnectedness.

e LIC and New India are the largest life and
general insurance companies in the country,
respectively and  General  Insurance
Corporation of India (GIC Re) is the sole
Indian reinsurer.

e State Bank of India, ICICI Bank and HDFC
Bank have been classified as domestic
systemically important banks (D-SIBs).

Answer : B

e The Food Waste Index tracks the global and
national generation of food and inedible parts
wasted at the retail and consumer (household
and food service) levels.

e The United Nations Environment Programme
(UNEDP) is its custodian.

e The report pointed out that many low and
middle income countries continue to lack
adequate systems for tracking progress to
meet Sustainable Development Goal 12.3.

e Sustainable Development Goal 12.3 — By
2020, halve per capita global food waste at the
retail and consumer levels and reduce food
losses along production and supply chains,
including post-harvest losses.

Answer C

They appear dark because they are cooler, less
dense regions than the surrounding plasma and are
regions of open, unipolar magnetic fields.

They can last much longer during solar minimum
— a period of time when activity on the Sun is
substantially diminished, according to NASA.

They have significant influence on space weather
that affects satellites, as well as the Indian summer
monsoon rainfall.
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10. Answer C .3 C
It is mandated by the UN General Assembly to Y YU AT gR1 Ot & e gaf s ueH
promote socially and environmentally sustainable P TG P gy g 3R gafaoig g 9
towns and cities with the goal of providing fedTS e 3R Bl B de1aT 34 & forw 3HfIHa
adequate shelter for all. fear gl
The Executive Board is composed of 36 member FIFR NS 'q:q;r%ﬁ'é’g T gRT —?ﬁ T 36
states elected by the UN-Habitat Assembly and To o0 A & 2 SR W—%ﬁ%’c’ I P
meets three times a year to increase the oversight T Il gRT FTRA e/ ¥ e O § dF §R
by Member States of UN-Habitat operations. e 2| '
11. Answer C TR C
It aims to establish a standardized and cohesive THFT o It WHRT TAd] iR Wewml R
digital identity across all government ministries W I:IT:R?')‘)[% R T fofted e =i
and platforms, enhancing accessibility, inclusivity, FET 2 R tIEVE[ TJORRET 3R ATRE SSicl
and citizen engagement. e ' ' ’
The initiative focuses on simplifying and " o
ggd HQ$€ [«
standardizing government websites, ensuring that Zl's’a R R %qus El ? H{m? SR %-Iq%%:
citizens from diverse backgrounds can easily ; , T8 5 R €« .
navigate and access essential government services Y P b IR FH AR
' 3TIRID TRBR] H13fl b Ugd Heb |
12. Answer B B
13. Answer B  JWB
It is the world’s largest water body that is enclosed I8 g a1 TR 991 9 (P £ o IR RE ¥
or bordered by land on all sides. ’:[&[ IR gan B m 2
This massive lake is located between Asia and St IR ¥ & RE
TR q§ g | 9%
Europe. The sea’s name derives from the ancient ﬁw%mﬁmw% \_rﬁ$?ﬁ ot
Kaspi peoples, who once lived in Transcaucasia to TR . '
the west. " ” g Al
. JIRA
B %TSV:{HARS 24 (NATO designation SS-29) i mfi WWRS'M U Wm 5529 @@ =l
e Yars RS- esignation SS-29) is a . Rfes ICBM) et 2
Russian intercontinental ballistic missile (ICBM) ( ) ¢
system. AT 911 & 6 39 BRat 2010 & Ja1 & o/ T
It is believed to have entered into service in |
February 2010.
The total launch weight of the RS-24 is assessed RS-24 $T $d Al gol 49,000 faumy afiewT T
to be 49,000 kg and is expected to have a % 3R R | YAdH ks 2,000 foet 3R 3ffhad
minimum range of 2,000 km and a maximum of 10,500 foelt 81 ) IwiiE B
10,500 km.
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15. Answer B 15. 3T B
It was started by Ajit Singh in 1907, to protest B! YA 1907 H 3rohia Rig 7 S gRI @Y
against three agricultural laws imposed by the U T HN ST o [y T BT |

British.

‘Pagri Sambhal Jatta’ literally translates to ‘take
care of your turban, o farmer’, and invokes self
respect and honour.

The slogan “Pagri Sambhal Jatta” was coined by
Banke Dayal, a nationalist poet, and became a
symbol of resistance.

Ajit Singh and Kishan Singh (Bhagat Singh’s
father) formed the Bharat Mata Society, a
revolutionary group for farmers.

Lala Lajpat Rai and other leaders also supported
the movement.

16. Answer D

e Pink Salt: Himalayan salt is rock salt (halite)
mined from the Punjab region of Pakistan.
The salt, which often has a pinkish tint due to
trace minerals, is primarily used as a food
additive to replace refined table salt but is also
used for cooking and food presentation,
decorative lamps, and spa treatments. The
pink salt contains nearly 98 percent sodium
chloride. Hence statement 1 is not correct.

e The Himalayan pink salt contains impurities
and that is why it has the distinctive pink hue.
Himalayan salt is used to flavor food. Due
mainly to marketing costs, pink Himalayan
salt is up to 20 times more expensive than
table salt or sea salt. Hence statement 3 is not
correct.

e Black Salt: Kala namak or black salt is a kiln-
fired rock salt with a sulphurous, pungent
smell used in the Indian subcontinent.
Traditionally, the salt was transformed from
its relatively colourless raw natural forms into
the dark coloured commercially sold kala
namak through a reductive chemical process
that transforms some of the naturally
occurring sodium sulfate of the raw salt into
pungent hydrogen sulfide and sodium sulfide.
Thus the pungent smell is due to the presence
of sulphur. Hence statement 2 is not correct.

TS GUTS SISt HT i 31 ‘3 w1t @r
BT [T, B A, 3R U8 g 3R W
BT TG HRAT 8
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3fiare o1 IHd= fa
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17. Answer C

The Shailesh Nayak Committee was
appointed by the Ministry of Environment,
Forest, and Climate Change (MoEFCC) in
June 2014 to conduct a thorough examination
of the provisions under the Coastal Regulation
Zone (CRZ) 2011 notification. The
committee’s report formed the basis for the
subsequent revision of the CRZ notification in
2018. Hence statement 1 is correct.

17. 3R C

o AW TG WA FH yafRr, a9 3R Ay
URad FAT (MoEFCC) §RT S 2014 § ¢
faf = &3 (CRz) 2011 SRRET & dgd
Y S g9 S dRA & oy g fean
T ATl S #t KU J 2018 H HeRas
TG & F1G P HRMYA BT YR IR | 3H:
HYT 1 T8 8

o WoRes-| uRf¥Ufds FU ¥ FagT=ia &=,

e CRZ-I constitutes ecologically sensitive areas, T o, 3 SRR N ST
such as mangroves, corals/coral reefs, dunes, !
national parks, marine parks, sanctuaries, sffe @1 Mo FRAT 81 W -l 7 Feh
reserve forests, wildlife habitats, etc. The fafae &7 3= W et SR R
coastal regulation zone areas in CR Z-I are el & dte fRm 81 o $?H2'H—Eﬁ%l
situated between high tide lines and low tide o T o &7 @eRes) H W v
lines. Hence, Statement 2 is correct. YT SR TR T@H T T TS

e Demarcation of the Hazard Line in the Coastal (@ RATgEin) gRT a1 ST 8, o uafaro, &
Regulation Zone (CRZ) is typically carried 3R Serarg uRad HAT (HSNSThRR) &
out by the National Centre for Sustainable ded U WEd WA gl W1 ¥ WHAH
Coastal ~ Management (NCSCM), an TR S Peg, qgK-TR | q@ 3R g dlg
autonomous organization under the Ministry ¥ gfd Taca=ia &= &) RIffd &d g1 o
of Environment, Forest and Climate Change YT 4 TS TS g
(MoEFCC). The Hazard Line delineates areas
vulnerable to natural hazards such as erosion, 18. 3R C
sea-level rise, and coastal flooding. Hence, WSPI §9d UHUGA (NSC) T Fifgd ema areit
Statement 4 is not correct. STHR §9d Ao §1 T8 YRA WBHR gRT U B

S 81 9 A BT Tfhd HRa & o et @l
18. Answer C BTG ST USdT §, S 5 T Bl Alcb-3 3y P

e National Savings Certificate (NSC) is a fixed- Y 31T §, STel Pls 39 3@y T 3 YHTUYS BT
income post office savings scheme. It is IR 8] X GPhar 21 39 doFT § &6l & q;ﬁ
offered by the government of India. One has 3t & IRM fRR | B
to visit the post office to activate this scheme,
which comes with a lock-in period of 5 years PR TId: WHR gRT AT HR-59d ol & Y
where one cannot extend the certificate o e ATH, 1961 BT URT 80 T & UG
beyond this tenure. The interest rate in this & ded 1.5 9 ST d BT SaT fopdr Sl GobdT 2
scheme remains fixed throughout the tenure. Safp TIUER § 9w Pt oF arclt AR Bt B

e Tax saver: As a government-backed tax- SR AT e §, Pad 1.5 9RG BYA Ui 98 db DI

saving scheme, one can claim up to Rs.1.5
lakh under the provisions of Section 80C of
the Income Tax Act, 1961. While there is no
upper limit on the amount that can be invested
in NSC, only investments of up to Rs.1.5 lakh
a year. Hence option (c) is the correct answer.

frawr oo o whan ¢ Suf fawen () wet S
g
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19. Answer A
‘German Plot’ or the ‘Zimmerman Plan’:
e During the First World War, the Jugantar

19. TR A
S YU A1 FoRE I
U fay g5 & SRM, AR aref 7 fadwr & gufet

party arranged to import German arms and
ammunition through sympathizers and
revolutionaries abroad.

Jatin Mukherjee asked Rash Behari Bose to
take charge of Upper India, aiming to bring
about an all-India insurrection in what has
come to be called the ‘German Plot’ or the
‘Zimmerman Plan’. Hence option (a) is the

3R wifdeal & A1y I SHA SRUR 3R M-
TREG ST B P HaRT B

S gt A 9 fAeR! 99 ®I ST YRA T UHR
U & e &g, e I fd YRd™
fagie & a1 w1 SR ST weuE ar A
IS BT ST 81 31 fahed (a) Hel IR B

correct answer. 20. 3R A
o T T & fow umar Fuifa w3 &
20. Answer A mmﬁwmaﬁWW$w

e The Act does not specify the marital status of

the woman as a factor for determining
eligibility for MTP. Therefore, both married
and unmarried women may be eligible for
MTP if they meet the specified conditions.
Hence, statement 1 is not correct.

Under the MTP Act,, the following
requirements apply for termination of

pregnancy:

7 fAféy 98 R g1 gufog, faarfed SR
Sffqaried T Afgay THS & T o &/
Thdl § ol 3 Ay wdl & @ e g
ERINACIE R R
o THA 4fTH & ded, THloRT @ THE
A & fore Fofafad srawawant g eidt &
o THfGRIT & 20 TG TH:
O U& Uslied fafrcier &bt I 1 I Hal

Up to 20 weeks of gestation:
e Requires the opinion of one registered medical
practitioner. Hence, statement 2 is correct. G
e The Act does not allow for the termination of | &

Bl 1 39T, HU 2 Gel B
o SFEH 24 UWR & dIG THEGRT B
TATE B3 Bl a7t ear @, Ryarg

pregnancy after 24 weeks except in cases of: FRufafad amal &:
When the continuance of the pregnancy poses O 9 THERT WRY 89 ¥ THad Afger &
a risk to the life of the pregnant woman; or e ) WeRT B T o Wﬁﬁ?‘fw

When the fetus has a substantial physical or
mental abnormality that is incompatible with
life. Hence, statement 3 is not correct.

21. Answer C

The book Majma Ul Bahrain Mingling of two
Oceans) was written by Prince Dara Shikoh. It
is related to sufism. In this work he has
compared the Islamic sufi concepts with

T ARSI 81 S Siidd & Iy
3R B | ST, HY 3 el Tal 7

. 3WRC

o UXI® A Id e (Gl HeNIFRI &1 g
IAGHAR <RI Riple gr1 foret w8 ot a8
gwiaG ¥ efd ¢l 39 o1 § S swm
! aURuNSH $T o fEg aRifA® eBHi

his earlier works. Hence pair 3 is correctly
matched.

Hindu philosophical outlook. Hence pair 1 is m g N . 5
correctly matched. % SEIHES SMEISIRINE SRS gl
Padshahnamah was written by Abdul Hamid ‘ E o Ul ‘q 3fegd gHIG TeR) g1 ferar
Lahori. It is very important for reconstruction g YT| g S & 38 b Q_”TEFJ:I‘T'UT % forw ggd
of the history of Bengal, because some |HNY TEAYUl §, Fife 39 Tdd § S &) 56
important events in Bengal have been more or z Tgayuf ge1sl R HHEY fAdR J =4 & T8
less glaborately d'iscussed in this book. The H 5 2| Ul ? Eﬁ A F[Efﬂm &1 |
first is the expulsion of the Portuguese from > =R ST 2 e & Ad @ B
Hughli. Hence pair 2 is correctly matched. u ; ;

c¢ pal ; ) 3 o T RifteR & guAdt (@ rer =) § O ok
The Nuh Sipihr is a masnawi (poetic work) g .
which was written by Amir Khusrau in 1318 2 gy Y 3[ 1318 ¥ forar o1 31 IR 6 G
and eulogises Mubarak Shah Khalji. It appears 0 @1 U= Bt o T T § o U8 WRd & IR
to reflect most perfectly the ideas of Khusrau : s o W ¥ foaRt & T st ave q euidr 8
about India which he had tried to develop in | E O 3T 307 Ugd & Hrf & fAwpfd & Bl

PR B | STl TS 3 TR &1 ¥ A |t
gl

£

&)

ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR
_ WEBSITE :www.raceias.com, [ /raceiaslucknow
E-mail ID : www.raceias.2010@gmail.com 8917851448

)
y:i: MOCK TEST

EXPLANATIONS




RACE IAS

22. Answer A 22. 3JTXA
e Pecer-to-peer (P2P) lending is the practice of ° tﬁﬂ?—g-tﬁtﬁ (P2p) W& SiHamS ol &
lending money to individuals or businesses A1y 9§ AfeTdl a7 SAaarl & U8 IUR 4 Bt
through online services that match lenders TYT § Sl BUIGTAISh &l IURGdisl I e g,
with borrowers, cutting out the financial S iy d=e e &t HEcafer|
institution as the middleman. P2P lending, AU p2p AT AR T AT A1 "HISS
alsoo krf'own as "social lenfiing" or "crowd AR F =g A off ST ST R, 2005 F TS M7
lintdmg ,t I11a§ been iround since 2005. Hence T R BT 1 98 2
. 1s)a erilen 1slco(r;ec . . . feR-g- TR ST e @R a1 ST FHIOT Y
eer-to-peer lending is riskier than a savings R ] R
accountpor certiﬁcgate of deposit, but tl%e %1I ﬁg ~ H%T% e S Fﬁﬁf\’ﬂaﬁﬁ 3
interest rates are much higher. This is because ~ . . . .
: : L e Irge # Faw avd ©, 3 ot Shfed
those who invest in a peer-to-peer lending site . . .
. : I3 § Sl I 7 3 foelta TR SR W
ssume most of the risk that banks or other ° )
financial institutions normally assume. Hence Sl %I ST Ho Z_ﬁ:‘%p[?’rl )
statement 2 is not correct. IR H, tﬂﬂ?{—tﬂq? AT T HReit !'36] EEd
e In India, peer-to-peer lending is regulated by (RBI) GRT faF¥afiid feban ST 812017 &, eI A
the Reserve Bank of India (RBI). In 2017, the P2P JYR P! fafafid H W T Wl U
RBI published a consultation paper on TR b, ofR sifom femfdwr ot favg
regulating P2P lending, and the final Y| ST HY 3 el Tei 3
guidelines were released. Hence statement 3 is
not correct. 23. 3 A. .
o T WPR & fad divor & I SR OR
23. Answer A TEEYA (SA) SR UgEd Iy SMeNfIE fawr
e The International Solar Alliance (ISA) and the TG (UNIDO) "$exARMd Acdd 3fih TieR
United Nations Industrial Development W@WWW(STAR Q) P
Organization (UNIDO), with funding of the TR URAISHT Sl HTffad IR IR 8l FAIY
Government of France, are implementing the HYT 1 I TS g
project "Structuring of an International I I IR Foll IdIG 3R JaT dNIRY,
Network of Solar Technology and Application faRy = U ¥ 1 fApfig 22 (TS 3R B
Resource Centres (STAR C)”. Hence 21y faeprRiia T (THsrEeivy) % SUM &
statement 1 is no.t co.rrect.. fore TUraRIT ¥ §ﬁ|ﬂ'|’cﬂ o (3313‘”"3) LAl ararrfr ¥
e The overall objective is to create a strong R STy W Il b AR TRIFId
network of institutional capacities within ISA grrrdTall BT TP T §d Ica & ST 21 SaRm
Member  States to enhance  quality FuT 2 TR B
it Q) fr e ke of ol 4 s o e e
: : - It F o T Eueiesguey), ydf
particularly in least developed countries a5 Lo :
(LDCs) and small island developi 3 ) R 3
ping states . . .
, @Eh/mRid o 7 (dlemsus) W Hid
(SIDS). Hence statement 2 is correct. !
e The first phase of the STAR C project will EAURSIEEE R ENE RG]
focus on the Economic Community of West
African States (ECOWAS), the East African
Community (EAC) and the Pacific
Community (SPC)/Pacific Island Forum
(PIF). Hence statement 3 is not correct.
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24. Answer A 24. 3TXA
e The string puppets of Odisha are known as o 3fifSEM ®I KT Hagarerl o ﬁ%’s‘ & T °
Kundhei. Made of light wood, the Odisha ST ST 81 Bobl dbel ¥ s+, 3w &t
puppets have no legs but wear long flowing FHaydferdl & W T8l g1d g afed 9 ddll 987
skirts. They have more joints and are, el The Ul 81 I U 3P oS Bld &
therefore, more versatile, articulate, and easy 3R Ol 3 o W Wy SR A &
to manipulate. Other types of string puppetry M Bt B T Foyad! $ 3 UBR
are Kathputli from Rajasthan, Gombeyatta I T FYAT, FoeF A ThﬁTITET AR
from Karnataka, and Bommalattam from m m :
Tamil Nadu. Hence, statement 1 is not correct. ﬂﬁ%l q %l THIAQ, T 1 W
e Rod puppets are an extension of glove - et
puppets, but are often much larger and « o ) W ad . o
supported and manipulated by rods from ﬁﬁﬁ% o SRR ag?ra:cﬁ Eﬁ?ﬂ% 3R A
below. This form of puppetry is found mostly REEEER R . BICft 21 Wgﬂ?ﬂ
in West Bengal and Orissa. Examples include- FT U8 T FCRR WA I R Ik A
Putul Nautch from West Bengal and Yampuri T ST & | IETe=on & e &- ufdm srer &
from Bihar. Hence, statement 2 is correct. OS] 3R foerR 9 W' 31d: HYT 2 Fgl
e India has the richest variety of types and g
styles of shadow puppets. Shadow puppets are o HRA ¥ BT H3Ydferdl & TR 3R fer bt
flat figures. They are cut out of leather and are BSER g fafaear g o Wﬁ?ﬁ qqre
treated to make them translucent. Shadow il gidt g1 3¢ IUS T Pel 1T § 3R
puppets are pressed against the screen with a 3¢ URYRN §9F & forw Iu=nid fbar Sirar gl
strong source of light behind them. This BT HAYdierdl Pl 3P US TP & Th
tradition of shadow puppets survives in Tolgd Id & I ThIF R oM™ A1l g1 BT
Orissa. Kerala, Andhra Pradesh, Karnataka, Hodieral @1 98 TURT ISIT, HRd, 3¢ T,
Mabharashtra and Tamil Nadu. Other examples Fle®, TERTY AR dftrerrg 7 oifdd 31 B/
of shadow puppetry include- Togalu W% 3T IS0 H T &
Gombeyatta  from  Karnataka, Tholu
Bommalata from Andhra Pradesh, and 25. 3R A
Ravanachhaya from Odisha. Hence, statement Ig GIoFT 3Ma SR e AFdl & Ty 3R
3 is not correct. T A 3R SAfIeTRAT HA (MoSJE) §RT
Tgad U ¥ Y& B o @] g1 ZAE Hu 1 et
25. Answer A TR
e The scheme is being undertaken jointly by the
Ministry of Housing and Urban Affairs and m g THTE HHATRG! $H Wd Jerdl THg! (equde) o
the Ministry of Social Justice & % THiAd fhar Srar § Weadr Jed arg-l/Sumon &)
Empowerment (MoSJE). Hence statement 1 is ‘ E TE & folU 5.00 9Rg FUA BT UrayT= fooam 7 gl
not correct. o mi| oF Az
e Sanitation workers are collectivised into Self 3
Help Groups (SHGs) and are empowered to HK‘J'_
run sanitation enterprises. Hence statement 2 &
is correct. u E
e Capital Subsidy up to Rs. 5.00 lakh for ‘E
procurement of Sanitation Related Vehicles/ ‘2
Equipment. Hence statement 3 is not correct ﬂ
B
N
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26. Answer A

Participatory Guarantee Scheme (PGS) is a
process of certifying organic products, which
ensures that their production takes place by
laid-down quality standards. Hence statement
1 is correct.

It is implemented by the Ministry of
Agriculture and Farmer Welfare.
statement 2 is not correct.

Hence

It operates on a peer-based appraisal system,
wherein members of the same village act as
appraisers, leveraging their closer proximity
for enhanced surveillance. This peer-driven
approach not only fosters a more robust
monitoring system but also curtails expenses
by eliminating the need for third-party
certification. Hence statement 3 is not correct.

27. Answer A

Sandstone comes under ‘minor mineral’ as per
the Mines and Minerals (Development and
Regulation) Act, 1957. Being a minor mineral,
its production data by the producers is directly
submitted to respective Hence
statement 1 is correct.

states.

Sandstone is a sedimentary rock (not a
metamorphic rock) that is made up of sand
grains of quartz, felspar, and other detrital
minerals with interstitial cementing material.
Its size may vary from 2 mm to 120 mm.
Hence statement 2 is not correct.

The reserve estimation has not been
considered important because of its abundance
and easy availability. Sandstone in India
occurs in Rajasthan (Vindhyan and Trans-
Aravalli Formations), Gujarat (Kachchh and
Vadodara district, etc), Madhya Pradesh (The
Vindhyan and Satpura Mountains), Uttar
Pradesh (Agra, Mirzapur, Lalitpur, etc
district), etc. Hence statement 3 is not correct

26. 3TXA

YRt TTRET TSI (PGS) Sifd IATGl
T R Bt TH Ufkar 8, o a8 g
FN 3 & 371 Iaure Feffd Tqoraan A
& IR Bl 3 HYT 1 T B

2 HY 3R fHuH Heaur Ty gRT Hraffad
fopaT ST R 1 31 HYT 2 T el B

g TehUl-3MuNd ool umelt W &1
R 8, o T & ifa & T Geuimddi
¥ ¥9 § S o €, S 9¢1 g TR & e
Ut Fbedr &1 A IS &1 T8 FghHI-
Jarferd RS A Fad TH S Holgd
R TRt &1 Sgrar & 8, Sfeh R uel &
HTUNARUT 1 STIRIH T B THIE HRP @l 7
i AN BT B 1 STRIT B 3 I ST B

27. 3TXA

T R | (e iR fafaem) sifdfray,
1957 % IR I3 TR TG Jier & SHcid
3T B T @Y WS & PRI, IATGH!
ERI 3UGT Ide sel WY d&fdd I=af o
TR faa o 81 9o U 1 98l |

I3 YRR T 3(GHId] IgM (FURT IgH
TY) & St SIS, BeuR 3R g WS wfeit
F X0 P PO F I gl § P faRreny
JafET gl B g1 39T SeR 2 et 9@
120 fift % i &) ST 31 3UfE FuF 2
SEEEN

DT TRAT 3R T YA & HRUT Rord
AN F Hg@yqul FE WA TN 1 URd A
I TR IorE (f[der iR gig-sRrmaah
TE), ToRId (@ 3R derexT fore, ofe),
7y yex (fdwr S8R ¥ayel Udd), S UeX
(SR, iR, aferag, onfe foren snfe & uran
ST € | SferT Y 3 el gl g
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28. Answer C 28. 3TR C

In medieval India, A Sultan was supposed to
rule over a territory on behalf of the Khalifa or
Caliph, who was considered to be the spiritual
and temporal head of the Muslims. Both the
names of the Khalifa and the Sultan used to be
read in the khutba, (Friday prayers) by the
local Imams. In 1526 the Delhi Sultans were
replaced by the Mughals, who initially ruled
from Agra and later from Delhi till 1707.
Thereafter, the Mughal rule continued only
nominally till 1857 when the dynasty ended.
The Mughals did not ask for any investiture
but continued to send presents to the

TG URA U, Th Jed™ I GaATHT a1 Fawl
DI AR W TPH &8F W AN HA1 gral o, o
Tl &1 s R s T AT ST
7| WA SR I GHI & AT RIHIT SATH gRT
GAdT (JEHAR Pt T4 H Ue od A1 1526 F et
& el DI S8 il A o o, sl geema o
3TRT § 3R &g & 1707 I foeeh q W fpa
3I9d §1G, JIA G had AHAH ddb 1857 b
SR QT 99 ISR 9T 81 1| gorall A ot ot
9% 3 AT T8 BT, Alh TAHT BT IUSR o T
IR @M S6 S0 AW ¥ gaar off gga &1 e

Khalifa’s. They also got the khutba to read in g ey () T8t IR B
their names. Hence option (c) is the correct
answer. 0o, TERC

29. Answer C Y | B 3 AR 2Mihe 8, e srafies qrem

o Schedule I consists of animals, which are

given the utmost protection. E.g., lion, tiger,
Great India Bustard, etc. Hence, statement 2 is
correct.

Schedule III (and not Schedule VI) now
includes the protected plant species. E.g.,
Pitcher plant. Hence, statement 3 is correct.
The amendment has added a new Schedule
IV for the animals listed in the Appendices of
CITES. Hence, statement 1 is correct.

30. Answer A

The Union Cabinet approved the PM-Surya
Ghar: Muft Bijli Yojana with a total outlay of
Rs. 75,021 crore for installing rooftop solar. It
aims at providing free electricity up to 300
units every month for one-crore households.
Hence, statement 1 is correct.

“The scheme provides for a subsidy of 60%
(not 100%) of the solar unit cost for systems
up to two kilowatts (kW) capacity and 40% of
the additional system cost for systems
between two to three kW capacity. Further,
the subsidy has been capped at three kW
capacity. Hence, statement 2 is not correct.
This setup reduces dependence on grid-
connected electricity, resulting in cost savings.
"Net Metering" is hence the most important
component, as it enhances the financial
viability of the entire process. It allows any
excess energy generated by the solar panels to
be sold back to electricity distribution

Sat 71 99, ¥R, 919, Je 3f3ar sk, S| 3aferg,
Y 2 TEt g

ST 111 (3R S VI el T 31 TRfgra el @
et Tfiet 81 S99, fRR wie | $9fig, e 3
BEE]

HRNEA A CITES & IRRIST # Yellag SHarl & forg
T 713 ST IV SIST ¢ | ST, FU 1 981 3

. 3WRA

Fdlg A@fHsd 7 39 R IR ol WM A P
forE 75,021 TS IW & Fd GRITT & A1y Yied-
T R g faorelt diorr 3 T ) 39T I
TH PRI Wi DI g HeH 300 AT dP Jud faoral!
IUAS BT 8| FIOT, HYU 1 Jg! B

g AT & faiare (Fafiare) emdr de &t
gunferat & forT TR 3bTs AN BT 60% (100% ~Ta1)
3R & § i fpaliare emar & st yonferat & forg
Sffafvert qumeh SITd T 40% Ffowe! UG B B
TP ], Fedas! I o fdide &Hdal db
Hiftra = o mar 31 ufire, wuE 2 e AR 31 I8
eam firs F gt foreh w fRkar & &9 F=ar g,
9% aRumasy arrg s=d gt |1 39feT AT
HreR w9 mgayyf uew §, Fife a8 g ufsean
3! o<y aerfar &) 9grd 1 98 IR O g
I7 et ot sifafvad o &t Ifad gou W faorett

|
)

faaRu SulRE B aUg S99 Bt AR AT B
3o, HY 3 J&I TRl B

companies at a fair price. Hence, statement 3
is not correct.

*‘ “"‘( Rajesh Academy for Civil Examinations
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31. Answer C 31. 3R C
e The United Nations Country Team (UNCT) o Igad RUY w dm (UNCT) 130 o= | Iﬁﬁﬁ %
exists in 130 countries, covering all of the 162 S 39 94t 162 RN BT HaR Hdl § olal TG
countries where there are United Nations Ry & BEHH 81 WY AL <= dm (uNeT) |
programmes. The United Nations Country FHT L T Fad b, UTdDTd, Eﬁ-q-ﬁa[
Team (UNCT) includes all the UN entities 3R GHOAU R H1H B arelt gaft g 1y
working on  sustainable deve'l(.)pmen‘t, Tt SRt ¥1 39 oy 1 9 B
emergency, rec<t)\./el’y Hand t;ra;nsmoil 1 1'n « UNCT T 39 Sgad Iy 3 VSR iy
programme countries. Hence statement 1 is .
correct. g; taat Wﬁ ifﬁ Wﬁ B ﬁ%qur-raq'[ a-; ﬁ:‘mﬁ 3
e The UNCT is led by the UN Resident N .
Coordinator, who is the representative of the il RC) = W R Wﬁ o r;Tg tard
UN Secretary-General in a given country. The oSt (UNDS) 1 Falre XfebT . forat
ry g ry ST o .
Resident Coordinator (RC) is the highest e I8 < <l ﬁqa & &
ranking representative of the United Nations WEBQH 2T B ! .
development system (UNDS) at the country o Y XTY HAd fopra wgg 162 <= R &=t 7
level with the responsibility to lead United UNCT & fIoprd & qH=d &1 &R &l ¢
Nations country teams. Hence statement 2 is I8 HEHH b fIbra $1 AR, IHAT SR
correct. E’%Tlﬁm%lsﬂﬁﬂ$%ﬁ3ﬂﬁ%l
e The UN Sustainable Development Group SR A
oversees the coordination of development of 32.
the UNCT in 162 countries and terrri)tories. It ¢ 1879j1880 H adH offyr ye & tﬁf TR
also guides, supports and tracks the & H P fagts g3, fore 3t & w
development of programmes. Hence statement et & AqeH & & S feedt v ot
3 is cotrect. UHIfdd el SHeT Aqed DT AdT dH ST A
o 1) gufe SISt 2 WE) & @ A Wl 7
32. Answer A ° WQ&TW%W%@@WWW@
e In 1879-1880 there occurred the Koya AR, HIagial R g Sfaiyal & Iy
rebellion in the eastern Godavari tract of iR AMg dfd, 9u A R A &uf §
present-day Andhra Pradesh which also FHiERT & Uaw &1 faiey S T | gfed St
affected some portions of the Malkangiri 1 98 e 9 A 7Y @
region of Koraput district in Orissa. It was led o Ty siR BIE (1855-56; [AER) > ﬁqa o gUraf
by Tomma Dora, the Koya leader. Hence pair ZRT iR} eiR W F gt ¥ [ew
2 1s correc.tly’matched. . o T e Rge | are A ek ey AR
e Chakra B1s.0¥, a young raja, led the Khond§, ) T SR I g T T SR St 3 ge
who were joined by the Ghumsar, Kalahandi, . .
: ) BIEESESREST
and other tribals to oppose the suppression of
human sacrifice, new taxes, and the entry of
zamindars into their areas. Hence pair 1 is not
correctly matched.
e Santhal Rebellion by the Santhals led by Sido
and Kanhu (1855— 56; Bihar) against the
practices of zamindars and moneylenders. The
rebellion later turned anti-British and was
suppressed. Hence pair 3 is not correctly
matched.
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33. Answer A
e The Foreigners (Tribunals) Order, 1964 was

33. ITRA
o TR (RTTIHRON) 3SR, 1964 H& WRBR GRI

issued by the Central Government under
Section 3 of The Foreigners Act, 1946. It
applies to the whole country. Major
amendments in the Foreigners (Tribunals)
Order, 1964 were undertaken in 2013. The last
amendment was issued in May 2019. All these
orders apply to the whole country and are not
specific to any state.

Amendment to Foreigners (Tribunals) Order:

It has empowered district magistrates in all
States and Union Territories to set up tribunals
(quasi-judicial bodies) to decide whether a
person staying illegally in India is a foreigner
or not.Earlier, the powers to constitute
tribunals were vested only with the Centre.
Hence statement 1 is not correct.

The amended order (Foreigners (Tribunal)
Order, 2019) also empowers individuals to
approach the Tribunals. Earlier, only the State
administration could move the Tribunal
against a suspect.Hence statement 2 is correct.
Since NRC work is going on only in Assam,
therefore, the aforementioned Order, issued on
30th May 2019 applies only to Assam as of
date for all practical purposes. This
Amendment Order also provides for reference
by the District Magistrate to the Tribunal for
its opinion as to whether the Appellant is a
“foreigner” or not within the meaning of the
Foreigners Act, 1946. Since the Foreigners
Tribunals under this order have been
established only in Assam and in no other
state of the country, this amendment in effect
is going to be relevant only to Assam at
present. Hence statement 3 is not correct.

fac=h ofaf T, 1946 P 4RT 3 & dgd SR
fopar Tar U1l U8 R I R ar g ol faeeh
(TATEhRUT) S1CY, 1964 H THE H=MYH 2013
7 fopu u Q| Sifaw T=me 1 2019 & 9RY fHan
T Tl A gt SRR IY 3/ R AR B § 9iR
forddt 3= & fore fafdr =1t &1

faeRRmY (=marfirewon) smewr # wRie=:

o T Wft Tl SR Pz wifd ueR & forem
aforeel & e (3rf-fe Rem)
T A F1 AR ar 8, afe I8 01
fpar o 9 f6 URd & 31y ¥ F | aran
Hfad fae=h § a1 7t S99 ugq, <t
P TG P! YRl pad g & g9 | 3G
FHYT 1 T8 Tl B

o UMM oew (faaxf (esgen smaw, 2019)
Hfaadl I feeAd ¥ Judh e &1 feR off
a1 81 399 Ug, pad IAod URE g feadt
ey & RIaT fioegd o MR &R Il
7| 3foTE HYF 2 T 8

o If5 TR BT W Had 47 & Id 36T 3,
3TfAT, 30 U 2019 & WRY fhar T IR
e Tl ARG Il & U 3 &Y
TG § Had Y R AN gl 5| T8 IR
3fexr fSren afoRge gRT fosgad &t o I &
forg Teffa & &1 +ff raur oxar ? & &
ritadmdl faesht sfifam, 1946 & of & T
o= 8 a1 eT) 9 39 oe™ & dgd faaxi
feea Faa s # iR ¥ & el oy =g
# ®fd 6T fu U ¢, SR g dRied
g # Fad 9w & fou Ui gnml
3o Y 3 Tel T B
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34. Answer D

In October 1929 Lord Irwin, the Viceroy
stated that it is implicit in the Declaration of
1917 that the natural issue of India’s progress
as there contemplated, is the attainment of
dominion status.” He also promised a Round
Table Conference as soon as the Simon
Commission submitted its report. Two days
later, on November 2, 1929, a conference of
prominent national leaders issued a ‘Delhi
Manifesto’ in which they demanded that it
should be made clear that the purpose of the
Round Table Conference was not to discuss
when Dominion Status should be granted but
to formulate a scheme for its implementation.

34. 3R D

IR 1929 H dle R, IR 3 Fel & T8
1917 31 O § fAfed § f5 yRa &t wifa &1
w@ifds g1, o fb 9gf uRefedd &, St
RUfy & Wit 81 ITH TIeAT HHIRH gRT S
RUlc TRgd Rd & TP Mads g &1 o arar
foban @l 17 9q, 2 TG, 1929 @I, TgE P
el & Te e 7 Uh fowl dvomeE AR
frar o I A @t b g8 Wy fHar S
IRV b M e & £ SIHFTT ¥ed
H9 fag1 I A1, 9 W 41 BT ol AT, Fed
3IP PHAGUT & I TH ST dUR HAT o7
I Tg +f A @t TweT ¥ B &7 9gad
BT TR, 3R IoHifde Hiedl & o v Imm

They also demanded that Congress should AT ahqgasﬁ:ﬂﬁgﬁ:ﬂ U
have majority representation at the
conference; and there should be a general 35. ITIB

amnesty for political prisoners and a policy of
conciliation.

o TT3H TS uRuR® CRISPR-Caso fafdrr &t
I | B3 AH YoM Bl 8, o Jured |
3 uRged!, Sib-cRile UHIEl &1 &1

B - Wifew IR Sea-8s 3% 1 IRka Y R
° rime Editing offers several advantages over i fid S R
traditional CRISPR-Cas9 methods, including . a?r SR Gﬂm N
greater precision in editing, reduced risk of Helrert @ ﬁwﬁ A FT U P A
off-target effects, and the ability to introduce a BT 2 ¢ A (b) el W §|
wide range of edits, including insertions, o TTEH TSfeT FT SwE A Gﬁ:hq.ﬁ hliL aET
deletions, and base substitutions, without F Al G'ctlﬁ?ﬁf"{ 3l Bt F, EIT%?T F[&‘I'Uﬁ
inducing double-strand breaks. Hence option & HY el B FofifR B, SIREIRED gl
(b) is the correct answer. BT T B & forg o) Afsd fapfig s
e Prime Editing can be used to correct disease- 3R S v SR faf g &1 sart wwg &

causing mutations in the human genome,
engineer crops with desired traits, develop
animal models for studying genetic diseases
and advance our understanding of gene
function and regulation. Additionally, Prime
Editing may facilitate the development of
novel therapeutic interventions for genetic
disorders.

M M & o far w1 Ioar g1 395
ffafved, ursH Tfefen smdfte iRl & o
U ey el & faer &I giaur
TS PR Tl g
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36. Answer A
e Arbitrage is the purchase and sale of an asset
in order to profit from a difference in the
asset's price between markets. It is a trade that
profits by exploiting the price differences of

36. 3TR A

et IToRY & ot uRufy &t iud # SR ¥
H FHM & fag feed oy @t @l ok fawt
21 U8 Uo U9 AUR § o faf ST ar fftm
U § 99 a1 99 9 Qeql & ged iR @
BAEl I3THR Y HHA gl e doR &I
3fermarstt & GRUTRGEY AN 3 iR 39 afg
Tt TR T RE A FIG | @ I§ HE el
BIdT| 3Hf fAsed (a) HEl STR 8|

identical or similar financial instruments on
different markets or in different forms.
Arbitrage exists as a result of market
inefficiencies and would therefore not exist if
all markets were perfectly efficient. Hence

option (a) is the correct answer.
37. 3R C

o Jifaw < yrRa fAffa § seife ce-75 &1
fEems kvD-1 W 3uilRa 8, S 9 @faga
¥9 & F9 W) 4 1980 & TR DI YA H
YRT &1 3MYff &t R GSLV Mk 1| = aTed
3T 3RV F AR TRUT B VR U B
¥ U CE-7.5 991 7 IUANT T B | 39 TR
CE-20 Ugl et &4 § fafifa s go4
21 SIRIT HYT 2 TET B

e CE-20 §9 T-S7Rex I BT IUUNT Hl g,
S g8 B | U & o W-I+R I e B

37. Answer C O
o The last two are India-made, although the H
design of the CE-7.5 is based on the KVD-1,
which Russia (as the Soviet Union) supplied ”
to India in the early 1980s. The GSLV Mk II
launch vehicle uses CE-7.5 engines to power ‘
the third stage of its ascent. Thus CE-20 is the
first indigenously built cryogenic engine. :

Hence statement 2 is correct. S :
e The CE-20 engine uses the gas-generator I AT <l B THY S qgdl HA g Sl §

cycle, which discards the exhaust from the AfPH, W & o Agaqyl §1d I8 § fb s
CE-20 S5 &1 Ffor oiR Uieor S & S

21 U8 TR RSN BT JUTNT 61 8, Sl Abe

pre-burner instead of sending it to the
combustion chamber. This reduces fuel

efficiency but, importantly for ISRO, makes
the CE-20 engine easier to build and test. It
uses liquid hydrogen, which is the most
efficient fuel for rockets. Hence statement 1 is
correct.

ISRO has accomplished a major milestone in
the human rating of the CE20 cryogenic
engine, which powers the cryogenic stage of
the human-rated LVM3 launch vehicle for
Gaganyaan missions, with the completion of
the final round of ground qualification tests.
Hence statement 3 is correct.

¥ fo T8 $2d S g1 ST HUF 1 g1 8

o T A CE20 HHNIHG Fo9 B AT AT &
TSI Uiy BRI B ©, S T e
& foTT AFE-¥ES LVM3 AT a8 & Hrai-d
WU B A TeH PRaT g, SHHT Qe
el & ifad R & 9 R & |1y | gEfe
HYT3 Tel
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38. Answer D

A few references show that the Rig Vedic
period had knowledge of agriculture and
practiced it to supplement their food
requirements. They produced yava (modern
jau or barley), which was rather a generic
word for cereals (food grains). Apart from
cattle-rearing and small-scale cultivation,
people were engaged in many other economic
activities.  Hunting, carpentry, tanning,
weaving, chariot-making, metal smeltry, etc.
were some such activities. The products of
these activities were exchanged through

38.

JRD
$3 euf ¥ UdT Terdr § i Hafes o & iy o
I AT 3R T SO Wy Sfraadharstt &1 gfef & for
DT AT HRA A1 J TG (YD S TT SN BT
JaTed R U, S 3 (@) P N T I
Teg 7| FARM UTe SR BIe THM R |t & AT,
T F3 3 e Tfafafda # @ gu 31 ReR,
TSR, THST &I, 1S, XY ST, U1 T
e Fo T wifafafiar off | g7 nfafafe & It
o1 oy faf g & wegs @ MGH-UGH fbar S
7| gTaite, Mg _AfTg &1 e yidier arem ot
geial &1 §fcl 31 & foT Yeob & U | T, Ui

barter. However, cows were the most favored SR U & SN frerd a1
medium of exchange. The priests received
cows, horses and gold ornaments as fees for 39. SR A
performing sacrifices. SR Ui oY & g3 forel I Siut oY s Qelt
& foU ST S B SR $9 Wi Hahd (SieTS)
39. Answer A ﬁmgw%|m$gﬂ(a)wq@%|
e Basholi Paintings are known for their

miniature art style from the Kathua district in
Jammu and have received the Geographical
Indication (GI) Tag. Hence statement (a) is
not correct.

40. 3T B

o foxflg fAdu® da u= fadu® &9 SraT § &9 98
3TE 110(1) & d8d Jaiag uid D! § I
fddt U & ofdfa offar 8, S oA fadget &

40. Answer B uRyIRT o1 §1 S0 Sraman, o7 fadas uw
e A Financial Bill becomes a Money Bill when foia fadae gran % fora 3remer grRT vHTod

it exclusively falls under one of the seven oo ST 21 S9fie, HU9 1 I8t T8l g
heads listed under Article 110(1), which o IO & YR fATPT 3R o= fa<iy fadgew!
defines Money Bills. Moreover, a Money Bill ®I apft off somT i g gffd & & fore
is a Financial Bill that is certified by the TGG & Sl TSl bl Gedfd B AT Hdl gidt
Speaker. Hence, statement 1 is not correct. 2 o el ¥ Awd IR I R
e Meanwhile, ordinary Bills and other Financial MO F iR 1 TG e o Tl B
Bills still require the agreement of both Y &, o Rdge A e @it o Rl
Houses of Parliament to ensure their passage. R B YR ANTHT I TRE & T

They can very well be rejected or amended by
the Rajya Sabha, unlike Money Bills. Also, all
other Financial Bills, separate from Money

T 1t RO B HARAT A ToRAT BTN SHDBT
HAae g8 § b yuld WuRw fadge uikd

Bills, must go through the rigours of all stages w il . R ﬂ_ R A BT T W @ forg
in the Rajya Sabha as ordinary Bills. This USRS a’ﬁﬂﬁaﬂ. 33"’5@@%?‘ T, QM e
means that while the President can summon a fatae W waual & forg YK 5% I IS

joint sitting of both Houses to resolve
differences over a deadlock in passing an
ordinary Bill, there is no provision for a joint
sitting for differences over a Money Bill
Hence, statement 2 is correct.

U9 81 ¢ | S, HUF 2 a1 5
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41. Answer B

Aurobindo Ghosh, along with Barindra Kumar
Ghosh and thirty-five others, was tried in the
case. Hence pair 2 is not correctly matched.
An assassination attempt on Viceroy Lord
Hardinge led by revolutionaries, led by Rash
Behari Bose and Sachin Sanyal. Hence pair 1
is not correctly matched.

Savarkar was sentenced to transportation for
life and forfeiture of all property. Hence pair 3
is correctly matched.

Muzaffar Ahmed, Shaukat Usmani, Nalini
Gupta, and S. A. Dange were sent to jail for
four years for communist activities. Hence
pair 4 is correctly matched.

42. Answer C

Phytoremediation basically refers to the use of
plants and associated soil microbes to reduce
the concentrations or toxic effects of
contaminants in the environment.
Phytoremediation is widely accepted as a cost-
effective environmental restoration
technology.

Phytoremediation 1is an alternative to
engineering procedures that are usually more
destructive to the soil.

Phytoremediation is, however, limited to the
root-zone of plants. Also, this technology has
limited application where the concentrations
of contaminants are toxic to plants.

A hyperaccumulator is a plant capable of
growing in soil or water with high
concentrations of metals, absorbing these
metals through their roots, and concentrating
extremely high levels of metals in their
tissues.

Phytoremediation can be used to remediate
contaminated sites, such as industrial areas,
mining sites etc.

Phytoremediation is not a fast process as it
takes time for a plant to grow and absorb
heavy metals etc. Hence option (c) is the
correct answer.

R=Ap
—

41. 3TYB

o 3RfIT Oy, aRE FUR OV SR T 3 @i
& Y, 39 AHd ¥ gHed Ia™r Tl ol
ST g 2 Het gAferd 8T 8

o I fIERt 9N iR W I & Aqa #
HifAPHING! GRT TR s g™ W gl BT
vy foban T gafee gm 1 w8l gAfd et
gl

o  JIRHR B! Aol HRIEN R Gaft Jufy Sisa
HI P Fol G T8 M SR g 3 wE
goferd §1

o TUHRR 3gHg, XMdd IWMI, AfH! Tl 3R
. U 3 & ey it & e R
I1d & fore Sia O faar T o1 S9fi Siet 4

g} &1 ¥ A Wit g
42. 3T C
o TIECRATSIRA Hd ¥U § TaiaR0l & UguH! Bt
igaT 1 fawred guTal & HH B & forw drelt

IR Wl gt & geaohal & IuAN B
Tefifd Hrar g1

o WECRARSTYA &I aFTd HTE! Taiarul Sgrelt
qPH-d & ¥ H IS FY I WHR far |
gl

o BRIRASTRA olifafar ufsarsh &1 ts
famed 8 o omaR R gt & o oifde
fa TR 81 §1

o TP, BIICRASTIE i & -89 dF &l
Hftrd g1 Ty &, 3T dAHAD BT UM S
2 OTeT Ugud! B Figar drel & forg fawrea g
& BRRURHACR T U1 4ol § St engaff b
I Figa aret gt a1 o & T § Wem gran
8, ST SISt & T ¥ 37 Uil B AR
FRAT §, 3R U SHdd! H st & HAfS
T TR B Hiad BT g1

o TIECRASIRA &I IUANT gd yal, S
AMNfE &, @I wi@l M B Slh HRA &
fore fpar 1 godT 31 BIRERATSIRN U ow
gferar ET § ife MY HY T AR U e
3 P MG HA & IHI I 2| 39fere
faeed (¥ I8 ST 3
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43. Answer B
e Lachit Borphukan, who was bom on
November 24, 1622, was Momai Tamuli
Borbarua's youngest child. He was an

excellent military leader who knew the
Brahmaputra valley's geography and the
nearby hills like the back of his hand. He was
also given administrative, judicial, and
military duties as one of the five Borphukans
of the Ahom kingdom by King Charadhwaj
Singha. Borphukan was one of the five patra
mantris (councillors) in the Ahom kingdom.
Hence statement 1 is not correct.

Lachit raised the army and preparations were
completed by the summer of 1667. His army
successfully retook Guwahati from the
Mughal forces. Emperor Aurangzeb after
being informed of the defeat at Guwahati sent
an expeditionary force from Dhaka under Ram
Singh. Due to the numerical and technological
inferiority of the Ahom forces, Lachit resorted
to guerilla tactics which successfully withered
away from the Mughal army. Hence statement
2 is correct.

The Battle of Saraighat was a decisive victory
for the Ahom Kingdom under Lachit
Borphukan's Despite  being
outnumbered, Borphukan's innovative tactics
and guerrilla warfare techniques led to a
stunning defeat of the Mughal forces, halting
their eastward expansion. Lachit Borphukan

command.

was victorious. The Mughals were forced to
retreat from Guwahati. The Mughals were
pursued to the Manas river, the Ahom
kingdom's western boundary. Hence statement
3 is correct.

44. Answer A

Surat becomes the first city in India to
implement a processed steel slag road project.
Hence statement 3 is correct.

The construction cost of the processed steel
slag road is 30% cheaper than roads built from
natural aggregates. Hence statement 1 is not
correct.

Processed steel slag road requires 30% less
thickness compared to regular roads. Hence
statement 2 is not correct.

43. 3T B

T T, AIHTS dTgel IRE%S & 9ad Bl g
}| 98 TP IPHP I a1 & S TGS Gt Pt
Y 3R -0 &1 UeTiSal &l 33! g ¥
WM A1 38 ISl IReaS Rig gRI 381 Iy
F U IRGHT H J Th & U § URNHS,
e SR ¥ B ot fau 7T A1 IRGHA
3T AU & Uid UH @R § 9 T 9
ENINMERE R RS

g = I Tt B 3R 1667 DI AT db
Joifar o @ M1 S I A g o 9
TATRTE! &l haargde aray o feran| Targret o
TR B! Y1 FeH & 91 S1aRIE SHRTod = 3|
Rig & Aqa ¥ o1 ¥ TH I gd Jorll
3R T Bl TS 3R dPh-ld! ST &
HRUI, AIfad = IRee IUHTT BT TR o
T e 1 I adIga s Uie 8¢ T3 | Sfie
HYT 2 TR 8

IWIETE & AS3 ANTT SRBHA B HAH &
dgd 3fEH WY & fu T Furigs Sitd ot
= § $H §H & davg, SRGH B A
O 3R TR g ddHid! A G AT B
NYFSHH BR BT Aqd o, o a1 gd
DI IR R F& T ARG IRGEHA Rt
U g & et ¥ Ui gen & fre Aoty
BT USTI Gl o1 WsT A9 ¢! d fovam T,
S SR AT St afg W o | g9 wuE
3WER

44. 3UXA
o I UNIRE Widl W IS IRAISHT Bl AR H=A

Il HRd T Ugdl XeR & 771 81 3TfT By
3Rl

TRe Wd W A &t Fmfor ara wefas
= § Fftfa ge@! &t g d 30% i 3
ERINCRE RIS

TRe Wd Wi A &1 afld gs&! & gaq
T 30% ®Y S $I IS gl 81 FIfT
FHYF 2 T8 T8l B
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45. Answer D 45. 3T D
e Statement 1 is correct: Conservation reserves o HYT 1 Tal %: T Rord 3R WHE'IW ford
and community reserves are terms used to YRd & IRF&T &=t &1 9= B & forw Iuam
describe protected areas in India that serve as fPT 9 99 Wsg © o WIfd ?TQW KOG
buffer zones, connectors, and migration TIog HUIRUT} 3R IR 3R WRied a4

corridors between established national parks,
wildlife sanctuaries, and reserved and
protected forests.

e Statement 2 is incorrect: These protected area
categories were first introduced in the Wildlife
(Protection) Amendment Act of 2002. (NOT
Wildlife Protection Act of 1972)

46. Answer A

e Web 1.0 was characterized by static web
pages with limited user interaction. Websites
were mainly informational and provided
content for users to consume. Hence pair 1 is
not correctly matched.

Web 2.0:

e Web 2.0 emerged around the mid-2000s and
marked a significant shift in web development
practices.

e It introduced dynamic web pages and
enhanced user interaction, enabling users to
contribute content, interact with each other,
and participate in online communities. Hence
pair 2 is not correctly matched.

Web 3.0:

e Web 3.0 represents the next phase of
evolution in web development, often referred
to as the Semantic Web or the Decentralized
Web.

e [t aims to move away from centralized
control and towards more autonomous,
intelligent, and open Internet platforms. Hence
pair 3 is correctly matched.

F & TBR O, HaeR 3R ARSI HIRSR
F U d o Y Bl

o HYT 2 AT §: A WidA & A P ugah
TR JIoa (ERe&on I=Neq s 2002 #
Uy fobar AT U1 (@oig TR&fOr AT 1972
EE)

46. 3T A

39 1.0 ! fowar it IuarTeal Teuifar &
1Y RR 99 U9 Y| I8¢ A FU I Gardd of
R IuATHArs & IUHT A F faw anwEh
UeH Fait ff| 3UIT gm 1 9! &1 4 gAfd el
|

39 2.0;

39 2.0 2000 F EF & G T I 3R A I
I wrsit & Te Hgayyl Seama & fafgd fea)

T oRfid 99 U9 UW fPU SR IwaNTedf
U & dgr, oRd IuNdhdl It &
A &, TH-goR & I qadd R 3R
TS Tl & UFT o § e gu| 3oy siiet
2 It ¢ A At 1Y @t 31

39 3.0;

99 30 99 oo & e & SFT@ TRUI &
yfaffta &1 8, PR sR Rfes as o
fahediepd 39 & =u & Tehiq far smar j1

TAHT e HAIPd AT H R BIAX AU
W, G SR A SexAe WehH &t 3R
a1 3| 3UferE Sl 3 I & § A Wreht 71

|
)
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47. Answer A

Gautama Buddha used the Pali language in his
lecture and his education. Prakrit along with
Pali is the language of the common masses
during this period, allowing his teachings to
be accessible to a broader audience, including
those from lower varnas and the common
people. Hence statement 1 is not correct.
Buddha's teachings and the formation of the
Sangha (Buddhist monastic community) were
revolutionary in that they allowed individuals
from all varnas, including lower varnas, to
join. This inclusivity was part of the appeal of
Buddhism, breaking away from the rigid
Vedic traditions that restricted religious
practices and community membership based
on birth. Hence statement 2 is correct.

While Buddha advocated for a Middle Way
that avoids the extremes of sensual indulgence
and severe asceticism, he did encourage a life
of moderation, moral discipline, and
mindfulness. The path he prescribed includes
practices that could be seen as forms of
abstinence, but not extreme asceticism as
practiced by some religious seckers of his
time. The aim was to achieve enlightenment
through a balanced approach to spiritual
practice. Hence statement 3 is not correct.

48. Answer C

Biophilic design is an innovative approach to
architecture and urban planning that seeks to
reconnect people with nature by integrating
natural elements and processes into the built
environment. The primary goal of biophilic
design is to enhance human well-being and
connection with nature.

RACE IAS

o TIAY g 7 U TR MR e F ureit yrwn
®T TG BTl 39 3@l & SR Ul &
Y-y Whd 39 SHal $t ueT R, o™
o g aof sk e &l wnfye Q1 gwfe
FUF 1 9! el g

o Tg @ Rem 3R 9 @ HEIR THa™) &
ToA HifdeR! o1 Fifes 3= 9 quf wfga
it quif & fdadl & sud WA g Bt
AR 2| I8 THRARET dig o & SATHY BT
fewr &, S o7 & SR W unfife gutel ik
TG & GGl B Uidaieid B arell HoR
afew RISl ¥ orent ot ey w2 T
gl

o TEfF §& A TH ALH AN HI gdrad HI S
FH U7 3R MR 9U & WA ¥ 9l B,
IB T, AMfAH SRIRA IR 71 oY ifa &
e oY Wit faan| S99 gRT §amg Y /1
H T yuTe e o 999 & FU A & o
Tl 8, A I T & $© UTfties Teeh!
SR Y =RH U 81| ST S SHTeATHD
N & fou te Sgfod =Raiur & aregm 9§
I U HRAT UT| ST B 3 Tl el 8

48. 3T C
IR fETe aRgewen SR el Mo &
fu @ sfiFa R § Sl Uefde dal iR
gferansit w1 fAfifa ardreror & t@iead e arnl &
pid J fhR ¥ s &1 yar SRl g1 Sfthiers
f&9e &1 MU &g AFa ST SR TPl &
1y oY B ST B

)
- d
MOCK TEST ﬂ

EXPLANATIONS 7388114444

ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR
WEBSITE :www.raceias.com, i /raceiaslucknow -
’ 21

E-mail ID : www.raceias.2010@gmail.com



49. Answer C
e Seccurities Appellate Tribunal (SAT) is a

49. 3R C
o Ufdyfd omdiciiy <URMYBRUT (SAT) URGH™

statutory body established under the
provisions of Section 15K of the Securities
and Exchange Board of India Act, 1992 to
hear and dispose of appeals against orders
passed by the Securities and Exchange Board
of India or by an adjudicating officer under
the Act; and to exercise jurisdiction, powers
and authority conferred on the Tribunal by or
under this Act or any other law for the time
being in force. Hence statement 1 is correct.
SAT hears and disposes of appeals against
orders passed by the Pension Fund Regulatory
and Development Authority (PFRDA) under
the PFRDA Act, 2013. Further, SAT hears
and disposes of appeals against orders passed
by the Insurance Regulatory Development
Authority of India (IRDAI) wunder the
Insurance Act, 1938, the General Insurance
Business (Nationalization) Act, 1972 and the
Insurance Regulatory and Development
Authority Act, 1999 and the Rules and
Regulations  framed thereunder. Hence
statement 2 is correct.

50. Answer A

Limited Liability Partnerships (LLP) is a form
of business entity, which allows individual
partners to be protected from the joint and
several liabilities of partners in a partnership
firm. Hence option (a) is the correct answer.

51. Answer A

The GECF is an international organization
that gathers leading gas-producing countries
to increase coordination and collaboration
among members.

There are also Observer Members: Angola,
Azerbaijan, Iraq, Malaysia, Mauritania,
Mozambique, Peru and Senegal. Hence
statement 2 is not correct.

With its current number of member countries,
the GECF enjoys a dominant position on
global energy markets and among
international energy organizations. Together,
they represent 69% of the world’s gas
reserves, 39% of the marketed production, and
40% of global gas exports. Moreover, GECF
member countries collectively account for

gfayfa iR fafma a1S sifffam, 1992 &t arr
15K & eyl & ded ®fUd T dufe
e § ok 59 siffom a1 fnddt s oA &
ded YAV Bl Uad SHfeh1Rdl, fdaar
3R UIIBR BT UG BIT1 37d: U 1 T 2
e SAT, PFRDA 3IffFTH, 2013 & dgd U3 B
e 3R fae™ MR (PFRDA) gRT UIiRd
RN & AT srdielt &t gars Bl § 3R
T FUCRT HRaT §1 STP SAAE], SAT, ST
S, 1938, VAT S1HT TTHIA RTPIIHRU)
ffTm, 1972 SR o\ fFame iR em
TR fAFTH, 1999 3R 9P ded 1T
U fet SR fafodl & ded yRdwm S
fame faer uifdeRor (RDAN gRT Oikd
RN & AT srdielt &t gars Bl § SR
ST USRI FdT § | 3 HUF 2 Tel 8

50. 3TYA

Hftrd aar Urfie (LLp) auIRe SHIs &1 Th
U B, O Afgdd WifleRl & wEer’ »d |
YRGR! &1 9gdd IR $3 oaidl § g9 &I
SFANT T B 1 ST faehed (a) WEY IR 61

. 3R A

GECF U&% SRS o4 § off Jedl & o4
JA9Y 3R GgANT g¢ P U ol T Iaesh
M B gPgI PAT G

3% qHdesd o ot € 3iTiel, SRS, 331,
ToRm, ARerfar, Aefee, I iR ITd|
ST B 2 8T T8l 5

3T IAHH TS - B T P 1Y, GECF afye
oIl ST IR SR ol WeAt § & ygE
R @A 31 Y H, § g & A HSR BT 69%,
fIuur I BT 39% 3R 3y 9 fFafa o1 40%
yfafifa &d €1 ST 3rlal, GECF & Ta® ax
IYfesw ¥9 F gFaT & LNG Frafa & oY § ofde
(51%) & fae oIeR § 1 39ferT wu 1 98t g

|
)

more than half of the world's LNG exports
(51%). Hence statement 1 is correct.
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52. Answer C

The entry of modern industry into India started
in the second half of the nineteenth century. The
situation of the Indian working class was very
bad due to the apathetic attitude of the British
Government and of local capitalists. Even the
moderates were also indifference to the labour
cause. The moderates were of the view that
labour legislation would affect the competitive
edge enjoyed by the Indian-owned factories. So,
they did not support the Factory Acts of 1881
and 1891. Hence statement 1 is not correct.
Sasipada Banerjea started a workingmen’s club
and newspaper Bharat Shramjeebi. In late 1880s
Narain Meghajee Lokhanday started the
newspaper Deenbandu and set up the Bombay
Mill and Millhands Association. The first strike
by the Great Indian Peninsular Railways took
place in 1899 and it got widespread supports.
Lokmanya Tilak also campaigned in favour of
strike through his newspaper Mahratta and
Kesari. Hence statement 2 is not correct.

The Madras Trade Union was the first
organised trade union in India and established in
1918. This was led by B P Wadia and V
kalyanasundaram Mudaliar. It conducted several
agitations for a decrease in the work hours to
eight a day, a bonus, an increase in wages, and
weekly off. Hence statement 3 is not correct.

53. Answer A

The objective of the Global Sovereign Debt
Roundtable is to build greater common
understanding among key stakeholders involved

52. 31X C

YRd H 3MYFA® ITNT &1 U™ IAudl Il &
I B T gell ey WeR ok wrEm
Uoluferdt & IERIA Y98 & HRU YRATT Toigr atl
! U 9gd WE A1 Tgl a [ IR +f 3|
PHRON & Ufd IR A1 IR BT A AT
9T BT YRAT WG dret Biged gRI U
Ui Sed &) UHIfdd Bl gafe, T
1881 iR 1891 ¥ Hhad siffgwl &1 gmdT =t
fan| o wy 1 T e B

RUTE S 3 T o Fad 3R THER U
YR yHsidl Y& [BAT| 1880 & 3id & AR Hersit
TGS - FHER U gy Y o ol s e
s fagey THIRURE & RIUAT &t I fegq
IR Y@d &1 Ugalt geard 1899 ¥ g8 ok 9
s e B den s F ot emA
AR UF W17 3R HI S 7190 J g3did
T H ST T | 3 HU 2 T T B

A ¢S T HRd &1 Ugdl Widd ¢8 A of
3R 1918 T WIMAT g3 YTl STHT Aed st OF arfean
3R df FeITURERH GaferR A fomam o1l 399 &W
& Hel DI IR 316 o HR, TH9, Toigdl # gis
IR Arafed gel & U Hs side Ul s
FYF 3 Tel TRl B

53. 3t U

o IfYP TUY HU TIAS BT =T BU THieT
M vgE ffduR®! & o9 it oM w0

in debt restructurings, and work together on the FT AT e SR FIET haad ¥ iR iR
current shortcomings in debt restructuring o . iy

processes, both within and outside the Common ! 6,{ R RACH ! Sff H Ia MR
Framework, and ways to address them. Hence Eid] QX M & TPl R D W Hl %|

statement 1 is correct.

The focus of the Global Sovereign Debt
Roundtable is on process and standards, not to
discuss country cases. The GSDR does not
replace existing restructuring mechanisms such
as the Common Framework. Instead, it supports
those mechanisms by fostering a greater
common understanding of concepts and
principles, which will in turn facilitate
individual restructurings. For example, the
Roundtable has facilitated common
understanding on information sharing and the
role of MDBs in restructuring processes. It has
also advanced discussions on the topics of cutoff
dates, comparability of treatment, defining the
debt restructuring perimeter, debt service
suspension and arrears, issues in domestic debt
restructurings, and the use of state contingent
debt instruments, among other topics. Hence
statement 2 is not correct.

i By 1 TE B

o JdfY® WYY B MRS B G UleAr R
AHSI R g, 7 % 30 & e R 7=f A W
SHTHEISR HINGT T oF O HIF thaddh
B STE Tel AT 81 STD SO, T§ SHAYROMSAT
3R fygidl @t e I 9 BT Jgam
IER I dA HT ST R B, o ged A
HfdaTd Gifa Bt AU UM BT | IETeRu
¥ foQ, Maa 3 g1 I IR 3R G
gicharsl ¥ THSHT $f YHeT R 30 T0 HI
U e T/ ¥ 381 desi fafd,
IUER $I g1, B G131 aRf &I alRyfda
TTE B e SR ISy Mh AT HUT e &
IuaT S fawal w ot ==f & oml semm 1
TTT B 2 el T8l
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54. Answer C 54. 3TR C

The Mughal Empire had a highly centralized,
bureaucratic government, most of which was
instituted during the rule of the third Mughal
emperor Akbar.

The most common and perhaps, oldest was
called batai or Ghalla-bakhshi. In this system,
The produce was divided between the
peasants and the state in a fixed proportion.
Hence option (c) is the correct answer.

55. Answer C

The exaggerated facial type of Kishangarh,
which becomes the distinctive and salient
stylistic feature of the Kishangarh School, is
believed to have been derived from the
attractively sharp facial features of Bani
Thani. Hence Statement 1 is correct.

Baramasa is a popular theme of Bundi
paintings, it is an atmospheric description of
the 12 Months by Keshav Das and is part of
the tenth chapter of Kavipriya written for Rai
Parbin, a celebrated courtesan of Orchha.
Hence Statement 2 is also correct.

This series of Bhagvata Purana paintings is
one of the greatest achievements of Kangra
artists. It is remarkable for its effortless
naturalism and deft and vivid rendering of
figures in unusual poses that crisply portray
dramatic scenes. Hence Statement 3 is correct.

56. Answer B

Fraternity means a sense of brotherhood. The
Preamble declares that fraternity has to assure
two things— the dignity of the individual and
the unity and integrity of the nation. Hence
option 1 is correct.

Also, the Fundamental Duties (Article 51-A)
say that it shall be the duty of every citizen of
India to promote harmony and the spirit of
common brotherhood amongst all the people
of India transcending religious, linguistic,
regional, or sectional diversities. Hence option
4 is correct.

T AT B e Fdlpd, NHE! WBR
off, fo®! SHfIHIRT RITTAT TR T THIE 3haR
F AN & SR BI T8 |

T 3 3R VMG I8 R TR F8 AT
TTedl-SRN Heardt At 39 a1 #, IuS B
famt SiR I & g T [fdd sruTd & fawifora
T Sira Ul safen fawe () T I B

. 3WRC

frerTTe &1 SfRford 7@ UeR, S fererrrg Qe
3! ARy SR viRa Qefivra fI=war 59 S g, [
ST § b 9% s 3+ & e R T deon 9
o T § | SEfT HYT 1 9 B

IR §&t e &1 w6 deiE v 3, a8
PG T GRT 12 HEH! 1 T ardavuig quie g
3R T8 3RBT Bt U URIg AT I WRaH F forg
fora T Sfafliar & <9 s &1 Rww B1 g9ferw
Hy 2 N TE B

YNTGd 101 =l &1 T8 4T HITST FATBRI B
T v Iuafedl # ¥ T 21 I8 3T Tg
UGiaare SR S gaish § il & IR
3R famrg gfaures & fou Ieieig § S Aea
Tl ® Wy ¥U § [ #a 81 safen oy 3
R

 IWB
HIETR BT 3 § HIETR BT HIawT| TR & gwor

@1 ¢ B 5 WA @) &) sl 3 gRfEd S B-
Ffeq 1 IRAT SR I BT THal AR &Sl
$Ifere fased 1 981 &

T g, Aiferes o (3G 51-T) Fgdl & [ URd
F YD TR BT B ST & I8 1fifes, HToTS,
eeftg a1 orffa fafgearsl @ W yRa & @t @ &
9 TgTa iR JHM YISTR &I YIS B S 1aT ¢
gqforg fawey 4 el ]l

|
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57. Answer C

58.

59.

A person to be appointed as a judge of the
Supreme Court should have the following
qualifications:

e He should be a distinguished jurist in the
opinion of the president. Hence, statement 1 is
not correct.

The President can appoint a judge of the Supreme

Court as an acting Chief Justice of India when:

e The Chief Justice of India is temporarily
absent; or

e The Chief Justice of India is unable to perform
the duties of his office. Hence, statement 2 is
not correct.

Answer C

Simple Majority: A number of provisions in the

Constitution can be amended by a simple majority

of the two Houses of Parliament outside the scope

of Article 368. These provisions include:

e Salaries and allowances of the members of the
Parliament Hence option 1 is correct.

e Rules of procedure in Parliament Hence
option 2 is correct.

e Use of official language, etc. Hence option 3
is correct.

Special Majority: The following provisions can be

amended in this way:

e FElection of the President and its manner
Hence option 4 is not correct.

e Extent of the executive power of the Union
and the states.

Answer C

e [t aims to ensure specialized functions and
services to cooperative banks, facilitate
communication between banks and regulators
and address challenges faced by Urban

57.

58.

59.

JWRC

Jdter T & e & w0 # ged g9 ara

e o Fufafad avean gt anlRe

o IPUNd B! I H I TH Uld¥d Frafdg g
MR ST, HUF 1 T 781 o

Ul wald IR & SRR Bl URd &

FTIaES T AN & U H Fgad o qohdT §

SEk

o YR & GBI TR R €Y ¥ uiRyd
Gl

o YRd ¥ GBI AN U7 HRfag & daedl
BT U A | o ad il 39fIY, Fo 2 gt
T

JWRC

YR SgHT: AU & b AUl B 3TDS

368 &% GRR I 916X UUE & Gl Tl & FIYR

gAd ¥ YRIG fear S gbar 81 37 UrauEt #

M &

o TUE & Yol & I 3R U 3TN fIbeq 1
BRE]

o e T ufthr & faw 3ufem fawed 2 wEt B

o MIBING UINT BT TANT, 31T | AT fadhed 3
S

Ry Sgra. Fofafed eyl & 59 W 9

TNy fopar S Teba B

o FURI BT @ 3R ITHT aIbT 3HfY fIbed
48 TR B

o TY 3R Il Bt FABGR! W BT AR |

IR C
o TTDI S WEBR! Sdb! &I VY B 3R
Ja1d R &1, dot SR Famet & dF
TR B! JAUSHS ST 3R TS bRt

Cooperative Banks. A major role for the ST & FHA S TTeR gHId! BT FHILH HIAT
umbrella organisation is to prepare small g1 Bl ST B TH TgE  Yffet S
banks for compliance with the Banking e sfdfaos & @[ﬂqm:[é;%q{,ﬁ%aﬁ

Regulation Act. Hence statement 1 is correct.
e The UO shall also play the role of a Self-
Regulatory Organization for its members. A
Self-Regulatory Organization (SRO) is a non-
governmental organization which has the

B TIR AT ¢ | 3TN HYF 1 981 5
e UO 3UH Yl & oY Ueh - Wire &t
Ufer ot AU e w-Fame d@1ed

power to create and enforce stand-alone WS- 31l IGNT SR TR T 3R Al bt
industry and professional regulations and FIH 3R TR IR B Waa g1 SUPT I
standards. It is meant to protect the investor ram, faf s =ifd s FaAe BT & &
by establishing rules, regulations, and set 3R AFe e ufeeand Rufa s 8 &
Standard  Operating  Procedures  which AyedT GHMTT AEEREal, TR 3R
promote ethics, equality, professionalism, : i '

transparency, and code of governance. Hence
statement 2 is correct.

T TR BT TgTaT it &1 ST BT 2 It
gl
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60. Answer C 60. 3TR C

The Levallois technique is a name given by
archaeologists to a distinctive type of stone
knapping developed around 250,000 to
300,000 years ago during the Middle
Palaeolithic period.

It is named after 19th-century finds of flint
tools in the Levallois-Perret suburb of Paris,
France. The technique was more sophisticated
than earlier methods of lithic reduction,
involving the striking of lithic flakes from a
prepared lithic core.

61. Answer B

Balban ascended the throne in 1266.

He broke the power of Chalisa and restored
the prestige of the crown. That was his
greatest contribution towards the stability of
the Sultanate. Hence, statement 1 is correct.
Diwan-i-Mustakhraj set up by Alauddin
Khalaji to enquire into and realize arrears of
revenue payments from the different parts of
the empire.Hence, statement 2 is not correct.
He introduced Sijda (prostration before
monarch) and Paibos (kissing the feet of
monarch) as the normal forms of salutation.
Hence, statement 3 is correct.

62. Answer B

As per Article 80 of the Constitution,
representatives of each State to the Rajya
Sabha are elected by the elected members of
their Legislative Assembly. Hence, statement
1 is correct.

Section 59 of the Act was amended to provide
that the voting in elections to Rajya Sabha
shall be through an open ballot. Hence,
statement 2 is not correct.

The Supreme Court denied the None Of The
Above (NOTA) option to the electors in the
Rajya Sabha election. Hence, statement 3 is
correct.

dgd doh-le QRId@idal gRT 7L GRIYTSIUN HTdd
¥ ETRME T 250,000 F 300,000 T T
Al T A PR & WRR & <P @I fear
T A R

g 9 1991 Il & oY, iY & daagy-iRe
JTTR H THAD TR & NORI $ TS & 19 R
AT TGT1 g1 g ddb-ie foifie Neae & ugd &
B! B ga § it ufspa R, ol TR
fafe BRI e Teieq &) fReTamT e o1l

. 3B

TS 1266 H RigRIT R Sa7TI

T AT Pt e BT s 3T 3R a1 UfesT
P! 98Td HaT| g8 Tea-d &) RRAT & fore Iger
T F51 NG UT| SHIOTY, Y 1 el g

IF-T-JERS Pt RO SASEH g
g & Al el & Yo YIdH & IH[T o
S &R R aYd FA & forg &t off | e, Hy=
PR R

I 3if¥aTes & I Ul F w9 A Rster [
& I IFAT JoImE) SR TS (RIS & TR gEAT) Bt
BT BT | TTFAY, FUF 3 Tl

. 3B

AU & 3G 80 B TR, IATTHT § JAD
I & Rl &1 gaE 3D fGud qur &
faffera Tewt grT fobar SaT 81 9T, o 1 T8t
g

ATH Pt 4R 59 § Y=Yy fbar T difd I8
Uray™ fHar o 9% b Isa9HT & gAa & Aaeq
Yol HdaM & A J 1| SHISTY, YU 2 Tl el
H

i S A IsuqHT gA1G § Adardrs & SwWiad
DI eI (e fdve 37 F 71 R ! s
HYT 3 T g

|
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63. Answer A

e India currently does not have a standard
definition, but the Organisation of Rare
Diseases India (ORDI) has suggested that a
disease is to be defined as rare if it affects 1 in
5,000 people or less. Hence, statement 1 is not
correct.

e Rare diseases affect approximately 3.5% to
5.9% of the population. Hence, statement 2 is
not correct.

e India represents one-third of global rare

63.

TWRA

YR § g0 § BIs A Ry T8t B, Al
Y T P TS YRA (ORDI) = g fear & f
et furdt &1 gefy & =u & aRuifa far S
I1fRT Ife 9% 5,000 A H ¥ 1 U7 IYY HH BT
YHTIIT Bl 8 | STfT, HU 1 T8 T8l B

Y T ST & TIHT 3.5% I 5.9% B TuIfad
FRA ¢ ST, HYF 2 Tt T 81 YR af¥ gatH
T ¥ e faes Amal @1 ufaffia &R g,
forad 450 ¥ 3 g 8 StiRar =it g

disease cases, encompassing over 450
identified diseases. Hence, statement 3 is zufere, $‘<’H3‘€r€’f%l
correct.
64. 3TRA
64. Answer A

Recently, the Food and Agriculture Organisation
of the United Nations (FAO), has released a report
titled- The Unjust Climate, which shows how the
effects of Climate Change on income and
adaptation in rural areas vary with gender, wealth,
and age.

65. Answer A

e The Vijayanagar Kingdom was founded by
Harihara I and Bukka Raya I in 1336.Hence,
statement 1 is not correct.

e The ruins at Hampi were brought to light in
1800 by an engineer and antiquarian named
Colonel Colin Mackenzie.Hence, statement 2
is correct.

e The Vijayanagar Kingdom was located in the
south of the Bahmani Kingdom.Hence,
statement 3 is not correct.

66. Answer C

e Italian explorer, merchant, and writer Niccolo
de Conti visited India in 1420 AD during the
reign of Devaraya I.Hence, statement 1 is
correct.

o Abdur Razzak was an Islamic scholar and a
historian who visited the Vijayanagara
Kingdom in India at the time of Dev Raya II,
the greatest ruler of the Sangama
dynasty.Hence, statement 2 is correct.

e The Portuguese travellers Domingo Paes and
Duarte Barbosa visited Vijayanagara during
the time of Krishna Deva Raya.Hence,
statement 3 is correct.

65.

66.

T191 81 ¥, 9GS Y & Wi SR BV W67 (FAO) A
g 3o Farshe o § U ROl ot @1 §, S
it € 5 oo &t # o ok egmad W
Saarg uRad & THTE T, o 3R 3 & 1Y B
e gId 51

JRA
ISR TSy &1 WIUAT gREX UYH SR ot
I TYH A 1336 B 31 Y| 3TRIT, HU 1 981 TR

Bt & WSE B 1800 T FHId Biferd Aboll ATHD
TH TONfR 3R RId@fdg o TSR § @/™n ol
ST, BY 2 LT B

ISR ITHTST S84 ey & <femr § fRyd o1l
$IRIY, FUF 3 9! T8l 5 |

IWRC

ZATed! Wb, ATIRT 3R Rah Fbiel § Pict 7
TR YYH & ST b SR 1420 5. F YR BT
RT | 39T, U 1 et gl

3egX TP TH s fIgH ok sfreR 3,
g1 ST 431 & Y HeM YNS od I fgdd
P JHT YRA H ISR gy &1 SRT fabar ol
TN, HYF 2 T 51 ol ant S o9 iR
OM1C IRSTT A FUN <9 I & I fAeaTR H1
R foram Ut safee, U 3 I R
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67.

68.

69.

70.

Answer B

In the age of the Vijayanagara Kingdom, Kudirai
Chettis was the local merchant community who
traded in horses. They imported horses from
Arabia and Central Asia. Hence, option B is the
correct answer.

Answer A

INS Vikrant: India's first indigenously-built
aircraft carrier, a major milestone in achieving
self-reliance in defense manufacturing. Hence,
statement 1 is correct

It made a beginning in the Andaman and Nicobar
Islands in 1995. The navies of Indonesia,
Singapore, Sri Lanka, and Thailand participated in
this edition. Hence, statement 2 is not correct.

Answer A

FATEF is the global money laundering and terrorist
financing watchdog set up in 1989 out of a G-7
meeting of developed nations in Paris. Hence,
statement 1 is correct.

The recent removal of the United Arab Emirates
(UAE) from the Financial Action Task Force
(FATF) grey list has sparked optimism for
investment landscapes, particularly in India's Non-
Banking Financial Companies (NBFCs). Hence,
statement 2 is not correct.

Answer A

e [ORA’s membership includes 23 countries:
Australia, Bangladesh, the Comoros, France,
India, Indonesia, Iran, Kenya, Madagascar,
Malaysia, the Maldives, Mauritius,
Mozambique, Oman, Seychelles, Singapore,
Somalia, South Africa, Sri Lanka, Tanzania,
Thailand, the UAE and Yemen. It also has 11
dialogue partners: China, Egypt, Saudi Arabia,
Germany, Italy, Japan, South Korea, Russia,
Turkey, the U.K. and the U.S. Hence,
statement 3 is not correct.

e While the IORA was formed in 1997 (then
called the Indian Ocean Region-Association
for Regional Cooperation) in Mauritius, its
genesis came from a speech Nelson Mandela
gave in Delhi in 1995. Hence, statement 1 is
not correct.

e To become members, States must adhere to
the principles and objectives enshrined in the
Charter of the Association. Hence, statement 2
is correct.
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JIWB
fooTR ImsT & gn o Pfes I _HE
URT THEA ¥ Y 9ISl &1 AOR dxd 41 d 3RS
3R wey TR A 9IS maTd B A1 sy, faeey
B 9l SR &

IR A
INS fashid: YRd &1 Ugal W = ¥ FfHfd faum
IEH, & A F ARk U wRA § uh
TG Hie T YRR | 3O, HUT 1 We1 §

D! LI 1995 H A 3R AHER U T8
ﬁ_g'gq‘h‘lsg . ﬁ .,P?_& i ﬁ. ; ﬂ .
AR Yl Bt A3 3 W feran ut| g9y, wyE
2 Ot T 31

IWA
FATF OR9 & foRia <= &1 G-7 S8 I 1989 H
T 3P o7 WMeq 3R 3Mdpard! faauivor
AR T B 1 safery, U 1 98 B

T 81 & Ugad 3Re AR (UAE) &1 faxfia F1earg
BT 97 (FATF) & U Gt ¥ gem 9 Fawr ufvew,
Ry ®u ¥ yRd @ R foxfa FHufat
(NBFC) % foTT siTeraTe 91 §1 SHfere, FuF 2 Tgt
gl

. 3R A

IORA ! Temdl § 23 ox T & affeefemn,
AmF, 9w, RIMQR, wferan, aférmr snpia,
ficier, donfan, uEds, gus SR gud| 39d 11
Farg IR it 7 9, e ) ere, o,
gl SUH, SfEor HIRAT, &9, o, 3. 3R g9,
3o, HY 3 J&l TRl B

9% IORA BT T3 1997 T AN T g1 T (@
34 f3Q HERIFR &F-&410 WedlvT JY SeT S ),
TP I 1995 H faeeht H @ #3am gR1 QU
T HTYOT 9 g3 ot | 39T, S 1 el T8l

I g9 & g, T4l B TEREEE F AR o
fafed Rigial iR ST &1 U o1 18T
TIT, HU 2 TS B

Y
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71. Answer B

Based on the agreement, the statutes for
establishing ICIMOD were drafted and
approved at the first meeting of the interim
Board of Governors in Kathmandu in July
1982. Article 1 of this statute specifies
ICIMOD’s Regional Member Countries
(RMCs): Afghanistan, Bangladesh, Bhutan,
China, India, Myanmar, Nepal, and Pakistan.
Hence statement 1 is correct.

71.

IR B
JH F 3MYR W, ICIMOD & RIMYT & forg B
HT TG dUR faan T SR Sars 1982 H HI6HIg
A falA SIS 31Tt oY BT Ugel o | 38 TRt
3 TSI 39 B & ™G 1 H ICIMOD & &g
T 3 (RMC) Y FAFET fbar man B: sremfaam,
UIfhdT | HieTT By 1 Tl gl

ICIMOD @t 3U=ies RITAT SR Igured 5 fideR

e [ICIMOD was formally established and 1983 I 31T T, oY1 ATy AferaqR, AuTd & g |
inaugurated on 5 December 1983, with its TN FY 2 T e g ffg oo R
headquarters in Lalitpur, Nepal. Hence e te 3Rl YR (HIMAP) ICIMOD &t
statement 2 is not correct. TF UEd & S HKH § o &9 a1 T

e Hindu Kush Himalayan Monitoring and eepdial, e sk it RLvs! ¥ e amus
Assessment Programme (HIMAP) is an IR ARy T8 ¥ stg SfeTe TEaT iR guy
initiative of ICIMOD which serves as a . :
platform for long-term collaboration and j@?‘; TP W P Y A P B § 1 FHA P 3
coordination among a broad and diverse group I
of leading researchers, practitioners, and
policy specialists working in HKH. Hence 72. TR D
statement 3 is correct. FU-TdT HaXS 3{JUrd (DSCR) JAA HUT gIRAIEr

BT YITAH B & T U BH & Sy Adhe] Jarg
72. Answer D % ATOAr 81 DSCR fAavasl iR IuRemarstt &

e The debt-service coverage ratio (DSCR) fearar & & w1 ol o & U 3rua BN &I
measures a firm's available cash flow to pay YT T » o ot omg B U CARILGH
current debt obligations. The DSCR shows CGORS 3R = gid BUr a1 R TS Raree
investors and lenders whether a company has 3T B IR B3 B S 21 ST Y 1| et
enough income to pay its debts. The ratio is 3
calculated by dividing net operating income
by debt service, including principal and STTHBIR = (B & 9l AH + TGN - SRTYR
interest. Hence statement II is correct. 3T 3R ) + (TH IY & HiaR 3T BT + & +

e DSCR = (Profit After Tax + Depreciation - T R AR STERASR P IR GRUTT F
Extraordinary income and expense) + (Debt R, 1 ¥ ofiF T U T8 i & 5w
payable within one year + Interest -+ Hu T a¥ F IO B A U @ e ¥
Preference share dividend) iy .

e According to the simple definition of DSCR, a el TSt ST ST il kN P

ratio of greater than 1 implies that a company
would be able to service its debt obligations,
including principal as well as interest from
accruals generated in a year. On the other
hand, a ratio of less than 1 might appear
unfavourable as it would imply that surpluses
of one year are insufficient to meet all the
immediate debt obligations of the company.
Hence statement I is not correct.

e gt gERt 3R, 1V HH HT U UG d
Thdl g i 39T 31 B 6 Th a¥ &7 Sty
HU & G ThTel BT MRAGT Bl GRT B & oy
3T §1 3YfOTT HY | Tet T8l g
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73. Answer C 73. 3R C

As per, the Antiquities and Art Treasures Act,
1972(AATA), an “antiquity” is an article or
object that is at least 100 years old. Hence
statement 1 is correct.

If it is a manuscript or record of any scientific,
historical, literary, or aesthetic value, it should
be at least 75 years old. Hence statement 2 is
correct.

Provenance includes the list of all owners
from the time the object left its maker’s
possession to the time it was acquired by the
current owner. For Example: Tracing the
‘Provenance’ of Kohinoor Diamond. Hence
statement 3 is correct.

RERY 3R war [ AffFm, 1972 (AATA) &

IR, T "Rl Ub &g 1 9% & off BH
HH 100 IY RN 8| 3T U 1 T8 8

g g5 et axes, Ui, el an dicd
T &1 gigfaft ar Sifiea &, o I8 &89 4 &1 75
Y RMET 1 AR | ST HUF 2 T

Td RF H 39 I § da o avg Al & deol
I et ft IR ada miferes gr1 siftwfea ot
R, Tt mfere! &) G IS g1 IR F
PIGR R & Hd RIM BT Gl AT SHIAY HYUF 3
e &l

74. 3T B

74. Answer B HIITR TN YR Fa A 1 +f Wil swar

o The Fowler Commission also refers to the

Indian Currency Committee, which was
appointed by the British Colonial Government
in 1898. The main objective of the
commission was to examine the currency
situation in India and to recommend measures
to prevent famine. Until 1892, Indian currency
was based on silver metal. The committee
recommended that the official Indian rupee be
based on the gold standard. This committee
also established the official exchange rate of
the rupee at 15 rupee per British sovereign, or
1 shilling and 4 pence per rupee. Hence pair 1
is not correctly matched.

The revolt of 1857 necessitated reforms in the
army  organisation of the  Colonial
Government. So, the Peel commission was
established in 1857 under the chairmanship of
Jonathan Peel. Hence pair 2 is not correctly
matched.

g, Tt 1898 # fafexr Siiuf i WPR R Frgea
fopar T 1| AN &1 G- 3e)9 YR H &1 Hi
ey Bt S BT 3R 3BT BI Ab P UM BI
AR ST ATl 1892 I, YR HaT dial T
TR 3myTia ot Tfifa 3 Rei ot & snfieie
YR 3991 T & MG W YR g1 a1l
=g gffd 3 30 31 nfieiie fafmg e o 15
F3 ufa fafesr Tuy, a1 1 fRufehr ok 4 O wfa o
fyffea ot saferg S 1 9 <1 9 A 6T @t
g

1857 % fagie 7 Nuf Al WeR F I Fe o
JYRT DI 1= &1 fam| g9y, 1857 H SHIA
did @t sremerar § did ST & RUAT @Y TS
Zfore oSt 2 Tl &1 ¥ A e @ g
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75. Answer B

e The UN-convened Net-Zero Export Credit
Agencies Alliance (NZECA) unites leading
public finance institutions committed to
delivering net-zero economies by 2050 by
supporting the decarbonisation of trade and
facilitating joint action from public and
private finance. Hence statement 1 is correct.

e Transition all operational and attributable
greenhouse gas (GHQG)
business activities in alignment with the path
to net zero by 2050, or sooner, consistent with
a maximum temperature rise of 1.5°C above
pre-industrial levels by 2100. Hence statement
2 is not correct.

e Publish GHG emission data and evidence
annually to showcase action in line with the
commitments. This includes issuing relevant

emissions from

international or national GHG emissions
reporting protocols and climate portfolio
alignment methodologies. Hence statement 3
is correct.

76. Answer : a

It is an intergovernmental forum for cooperation
and coordination on Arctic issues, including
scientific research.

Formed in - 1996 through the Ottawa Declaration.

It promotes cooperation, coordination and
interaction among the Arctic States, Arctic
Indigenous peoples and other Arctic inhabitants

on common Arctic issues.

Members (8) — Canada, Denmark, Finland,
Norway, Iceland, Russia, Sweden and the USA.

India is currently an Observer member on the
Arctic Council.

75.

76.

IR B
TR Y RIS Ae-SfRT TaquUIe hise
TS TARY (NZECA) TMUR & SIDTa Gk
H1 gL TR SR daifie iR Foft faa I dgad
PRATE DI GAYT UGH BB 2050 b —c-oiRI
fegae 37 & fou ufdes vgE adefe fag
TR DY Thole Bl ¢ | ST HYF 1 T8l 8

2050 d% T I Ugd ¢ ORI & O1T F 3FY
A Tfafafial I gt aiere ok RrfeR
MRS T (Shuol) IS P RIFART BT,
2100 d% d-3feNfiies wRi ¥ 1.5 et Afcqay &t
HfYHaH qUEH 9fG & =TI FHT HYH 2 gl
T8

UfaaGarst & o= HIRATS B UaRId I & for
I SiTaSl Ioi ST 3R 1T UHIRIT B |
T IR S @ A Al a
RoféT Meieia iR Soary Ui TR
Uit SRt A1 A 81 3RIE w2 3 T 3

3R :a
g A9 Y Tied SMbed Tef TR g
3R gAY & o U 3fR-ReRI FA B

1996 H 3Tl TIYUN & HTeAH J Tfd|

g 3Thfed JUl, 3Mbied WM Al 3R 3=
pied FMaRal & | o mdbicd Hal W
T, TH=aY 3R STadid &) Seral Sl g

o (8) - BT, A, fhdis, A1d, 3MzTTS,
Y, Wi 3R guyu|

YRA 9dHH H 3rdhbfes uftve & te wideds Jew
=
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77.

78.

79.

Ans c
Explanation:

e Only High Courts and Supreme Court can
entertain PILs under Articles 226 and 32,
respectively.

e Subordinate Courts have no PIL
jurisdiction.
e Statement II is correct, as PILs serve

collective justice and rights enforcement.

Ansb
Explanation:

e Statement 1 is incorrect: The Constitution
does not classify ministers into categories; this
classification is based on convention and rules
of business.

e Statement 2 is correct: Article 74(1) says that
the President shall act in accordance with the
advice of the Council of Ministers.

e Statement 3 is correct: As per Article 75(5), a
minister must become an MP within 6 months
if not already one.

Answer : ¢
Initiative by - NITI Aayog.

Aim - To evolve an understanding of the fiscal
health of states in India.

The FHI analysis covers 18 major states that drive
the Indian economy in terms of their contribution
to India’s GDP, demography, total public
expenditure, revenues, and overall fiscal stability.

Indicators:

Expenditure Management

Debt Management

Fiscal Deficit Management

Revenue Generation and Mobilization

Overall Fiscal Sustainability
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Ans c

TPHI:

e Had I& T AR Fdid TR HHY:
3TEE 226 AR 32 F dgd SHfed ATTHIST W
IR PR T B

o ISR R & U SHfed TifRiepTeN BT B
ARIBR T B

o HUF || TEI B, Fiifeh wHed AfesTd AMfesws <
3R BRI B ] B BT HTH B! B

. 3% b

TPHI:

o HYF 1 TTAd §: faur At & AT & Fifea
T&F a1 8, U8 iR T 3R a9 $
o R eneRa g1

o TYT 2 TG §: TG 74(1) Pl § b IPAMI
TRURYE 3 9a8 & AR S HT|

P 3 T B TG 75(5) P IIUR, IR FIE TR
Ugd ¥ Iige 8l 8, O ¥ 6 HeH & iR Iivg
CRELELRY

BRCECile

I 3T gRT Ul

I - HRA H Il & IHINT WY o U
fawRd w1

FHI faciwor & 18 T Ig TMAE € S HRd &t
I IGHY fRRA # 396 aieM & deH o
YR gyt &Y 3 s B

Thde:

Y U

EURCLE

IASTH Y °TeT UeteH

TS Gor 3R e

I ARG FRYRT

Y
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80. Answer : ¢

RACE IAS

Wagqf Board and wagqf properties

Wagqf Board is constituted under the Waqf Act,
1995 (amended in 2013) by state governments to
register, maintain and oversee Wagqf properties in
the state.

Wagqgf - A Waqf is a permanent endowment made
by a Muslim for charitable/religious causes - like
building mosques, schools, or hospitals.

Once declared, the waqf property becomes
inalienable - it can’t be sold, gifted, inherited or
mortgaged.

Ownership is considered to be with God and the
property is managed by Waqf Boards.

The Waqf Board must have Two non-Muslim
members

81. Answer A

e The fundamental niche is determined by the
range of a species’ tolerance to environmental
conditions. Many different physical, abiotic
(non-living) factors influence where species
live, including temperature, humidity, soil
chemistry, pH, salinity and oxygen levels. For
each species, there is a set of environmental
conditions within which it can best survive
and reproduce in, assuming no competition
exists. It is under these conditions that the
species is best adapted.

e Realised Niche: Species interactions (such as
predation, parasitism, mutualisms, etc) may
result in a species not being found throughout
its entire fundamental niche. For example, if
this fish’s prey species do not occur in some
areas of the fundamental niche, then this fish
species may not occur there even though it
could  physiologically  tolerate  these
conditions. The realized niche reflects the
range of environmental conditions that a
species manages to exploit in nature. The
realized niche is smaller than the fundamental
niche because all species are to some degree
constrained by biological interactions such as
competition, predation, and disease. Hence
both statements-I &Il are correct and
statement-I1I is the correct explanation of
statement-1I.

IFPH SIS 3R I Jufyar

JFB S BT T3 Iod BRI gRT I SfAfam,
1995 (2013 H TRNfA) & d8d Iod H 9% AUl
B! Golipd A, T T/ 3R IP! WG B
¥ fore fpar ST g1

I - I T T Salal & ol fopd g grT
e/ enfiies IE=al & fTT 915 offelt § - of ARG,
T T 3T ST

% SR 9IfNd g9 & d1¢, 99% Jui faHrT &
STt ® - 3 S, SUBR § ATeT 4 S e, favmra
T 78T feum o gepar a1 fRdY 7Y <1 o Iepa|
WG SR & TG HT ST § 3R Uy 71 Taied
JHE SIS gRI {51 AT 3|

I SIS H o) TR-FETH 9 g1 91ey

. 3WRA

o fra waiaroit aRkfRufadt & ufa feht venfa
Pt geaiadr &1 dar ¥ FuifRa gar g1 aoam,
3T, firg! & ¥, diea, daurdT ok SR &
TR Ifed Ps SfeT-3ra Wi, snifde (Feffa)
PRE Yoadl & g & M Bl gHIfad 4 &
T Uofd & foe, gaferofta offufadt &1 o
g g1 § o iR 98 I99 sr1 ofifad @
Taet § SR Yo R Gahd! 8, I8 A §U fb B1g
vl digg 7 81 37 uRkfRufaat & € g yonfa
FataH U ¥ SfIHierd gidt 71

IR ST TSIl Sict:fobam (I8 R R, TRehfaa,
URWNSGAT, 311f¢) & IRUMREGRY Th USTifd 3O
Tquf et 3 & e U o Febdl ¢ IR B
fou, o U o &t ReR yeifaar ga e &
T &l | T8 S it €, O U8 Sl e agt
I8 8 el B, o B T8 IR T U 37 fRufyal
P GgT R TH| gdde e yaiaRofig
RkfRufeadt &t i &1 gxifar § e e e
UHfa & e B T UeeH Bl 8| IRATAD ST
A AT § Bler giar § e gt yonfadt 9 g
do Sfde sa:frarel S ufowel ReR SR
FHRT T faa= g § | SURIT HF-1 SR 11 SFT FgT
g 3R HUF-1l HYF-| BT TgT WHHRUI B
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82. Answer B 82. 3T B

e The Tactical Airborne Platform for Aerial
Surveillance-Beyond Horizon-201 (TAPAS
BH-201), formerly known as Rustom-II until
20161, is a medium-altitude long-endurance
(MALE) unmanned aerial vehicle (UAV)
developed in India. Hence statement 1 is
correct.

Manufacturer and Designer

e Manufacturer: Bharat Electronics, Hindustan
Aeronautics Limited

e Designer: Aeronautical Development
Establishment. Hence statement 2 is not
correct.

e TAPAS-BH-201 is designed to perform
Intelligence, Surveillance, target acquisition,
and Reconnaissance missions for Indian
Armed Forces. Hence statement 3 is correct.

83. Answer B

e Article 275 empowers the Parliament to make
grants to the states which are in need of
financial assistance and not to every state.
Also, different sums may be fixed for different
states. Hence statement 1 is not correct.

e These sums are charged on the Consolidated
Fund of India every year. Hence statement 2 is
correct.

e Apart from this general provision, the
Constitution also provides for specific grants
for promoting the welfare of the scheduled
tribes in a stale or for raising the level of
administration of the scheduled areas in a state
including the State of Assam.

e The statutory grants under Article 275 (both
general and specific) are given to the states on
the recommendation of the Finance
Commission. Hence statement 3 is correct.

BRIESTH-201 (TAPAS BH-201), S U8d 20161 9%
TAH-Il & TH I THET S o1, HRd § fasRa te
Ty $aTs ael-6RS (MALE) 719 fed garg argd
(UAV) B TfiT &Y 1 T8l B

At ofR feor=R

fafar, uRa SowRew, ffgWm  TRiATeH
fafies

e TRIACHd Saauic TRfRieme| sy
HYT 2 g TR B
TAPAS-BH-201 @ HRAIT A ol & fard i,

fRF, dgg wia ok <R A & & fom
feoirs foar mar 81 39fere ®u9 3 Tgt 8l

. 3B

TG 275 WU P 39 IS Bl SIeH S FT
3R 3ar § o faiia weraar &1 smaxadar g, 7
% X I BT Y B, -3 I & o
S{TT-3IQT IR T BT Sl Feball &1 T HUT 1
SHERE

T ARAT &% 1T YR & JHPd SV TR s St
HESINSERE PR

T AT WAy & Samdl, oy fedt Isa o
3Yfed SFSTaE! & HedTul B 9gral o a1 3H
Iog Ifed fordt g & Srgfad & & v &
TR P! ggH & forg AR sl &1 ft gy
FRAT 81 WS 275 (T R ARk gF) &
TEd JUTe e fa 3Nt &t R W sl
&1 3T 91 31 39T Y 3 T 5
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84. Answer B

As provided by the Constitution, the Speaker
of the last Lok Sabha vacates his/her office
immediately before the first meeting of the
newly-elected Lok Sabha. Therefore, the
President appoints a member of the Lok Sabha
as the Speaker Pro-Tem. Hence statement 1 is
correct.

84. 31X B

S fe dfeuE gR1 uer fear w g, fsdh
AGYHT HT 3edy AdHdifed AeaHT &I ggal
Yo I I UgA 31UAT US el IR &aT 21 3T,
JPUfd THBAHT & Ha Bl Uied Wik Fgad
Pl ¢ | STfT By 1 &l B

IR W, 39 forT Jad aRky Tax o1 9u- fhar

e Usually, the seniormost member is selected ST gl Trgqﬁ ey T &1 Iy fedrar 21
for this. The President administers oath to the !
Speaker Pro-Tem. ey TR & Uy TR Bt gt wfdaar gt €1

e The Speaker Pro-Tem has all the powers of 98 9-Maifad dieaHT &1 Usd! 93® I e
the Speaker. He/she presides over the first Rl § | ISP ] Hao Y Y& B {0y e
sitting of the newly-elected Lok Sabha. His/ 81 98 Ue B U e HT gA1G b o off wed
her main duty is to administer oath to the new AT 81 SN U 2 TS g1 ey b g Bt
members. He/she also enables the House to IR AR GRT 79 3T A1 g, 7 & W-oH W
elect the new Speaker. Hence statement 2 is TR S9feTT By 3 Il 7l B
correct.

e The date of election of the Speaker is fixed by

the President and not the Pro-Tem speaker.
Hence statement 3 is not correct.
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85. Answer D 85. 3T D

The Bakhshali Manuscript is an Ancient
Indian mathematical manuscript written on
“birch bark” which was found near the village
of Bakhshali in 1881 in what was then the
North-West Frontier Province of British India
(now Khyber Pakhtunkhwa province, now in
Pakistan). The manuscript is written in Sarada
script and in Gatha dialect (which is a
combination of the ancient Indian languages
of Sanskrit and Prakrit). The manuscript is
incomplete, with only seventy leaves of birch
bark, many of which are mere scraps. Many
remain undiscovered. Hence statement 1 is not
correct.

The manuscript is a compendium of rules and
illustrative examples. Each example is stated
as a problem, the solution is described, and it
is verified that the problem has been solved.
The sample problems are in verse and the
commentary is in prose associated with
calculations. Hence statement 2 is not correct.

The Bakhshali scroll is sometimes recognized
as the oldest Indian mathematical text but its
exact age was widely contested, and
researchers used carbon dating to trace it back
to the third or fourth century. The manuscript
contains the earliest known Indian use of a
zero symbol. There are other contenders for
the title of the oldest mathematical text in
India, such as the Sulbasutras. The most
important of these documents are the
Baudhayana Sulbasutra written about 800 BC;
Manava Sulbasutra written about 750 BC; the
Apastamba Sulbasutra written about 600 BC.;
and Katyayana Sulbasutra written about 200
BC. Pythagoras's theorem. There are many
examples of Pythagorean triples in the
Sulbasutras. Hence statement 3 is not correct.

TBRTe Uigfeit U U= URdr Tfvra gigferfd
T T ! BT W foRdt 7S § S 1881 H SRoRIAT
g & Ty firelt o, o SO 99y fafewr yRd &1 3R-
oyt i uid o1 (3 YR U Uid, 3
UifpRdT H) | Uigfafy JIRar fafd siR T sieft (&
THd 3R WP BI U HRAT Ui BT Garer
?) o foreht v B 1 uigforr e B, 39 Pad IR
5 B O b U 8, B A #E ol 7 oS &1 B
anft +ff @t TET T § 1 3T U 1 96T e B
uigfify Pl oiik evid Iarmevul &1 b 0% 3
TP ITER0 HI U GO & &Y T 911 T 8,
Y HT quiq fopar T €, 3R I8 Jaifud fhar
a1 8 {3 qre g4 | 18 g1 AT e U H §
3R fewroft 7o & St T # B 1 ST Hu 2 9@t
EHE]

wia & dU-FH Tey A URd™
Tt U6 % FU § UgIHT ST §, Afd 9@t
TS Y R IS ¥ faarg o1, 3R Mespafan 3
= I a1 At 3 9% auw @em & o
FIeA ST &1 IuanT fora| uigfafy & 3 wdlies
BT Je TEAl Fd HRAT IUANT B1 HRA H Ty
R T Ure % f@de & U o9 qer € o
JoagA | 39 cwdel B ey Aeaquf § Siume
GeagA Sf AT 800 ST Yd foraT T T st
¥ UISUIRE POl & P IR &1 e HU 3
BRG]
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86. Answer C

Xeriscaping is the practice of designing
landscapes to reduce or eliminate the need for
irrigation. This means xeriscaped landscapes
need little or no water beyond what the natural
climate provides. Hence statement 1 is correct.
Vegetation that thrives with little added
irrigation is called drought-tolerant vegetation.
Xeriscaping often means replacing grassy
lawns with soil, rocks, mulch, and drought-
tolerant native plant species. Trees such as
myrtles and flowers such as daffodils are
drought-tolerant plants. Plants that have
especially adapted to arid climates are called
xerophytes. Hence statement 2 is correct.

87. Answer B

Insolation refers to incoming solar radiation
from the Sun that reaches the Earth's surface.
It primarily consists of shortwave solar
radiation, which is composed of visible light,
ultraviolet (UV) radiation, and a small amount
of near-infrared radiation. Hence statement 1
is not correct.

The amount of insolation absorbed by the
earth is more than the amount of insolation
reflected directly by it. About 71% of the
sunlight that reaches the Earth is absorbed by
its surface and atmosphere. The remaining
portion is reflected back to space. Hence
statement 2 is correct.

86.

87.

IWC
IRTST iR @) axaedr & HH B a7
AT T & o8 uRe=al &f S8 & &1 g1
1 39T AaTe § & IRTPs uRewdl B mefas
A gRT YaH fhu o ardd Ul @ 9gd &1 a1
fyepa ot urlt @ smagwar TR |t 81 39
HYT 1 T ]I

e} stfafvad Riwrg § oo arelt aafa &) -
] IR HET A 8| ARFBUT BT 3 SRR
afewy 2=t Gl Y yonfadt I seerm gidr g1 7éa
S U3 SR WIS S Bet GuT-Iiew] Y | ]
o a2y ¥ J Y Sferarg b 3D 8 T S
SRITZeH HEl Sl g | 3fd: HUF 2 el 7

IR B
gafau g ¥ M areh IR fafe=or &1 Fefifa wrar

8 S gt 3t I8 a% ugad 3

T8 T WU J Y a arel IR fafpror it
B 8 S T U, WIS (Uv) ffeRor iR
pe-sraRad fafemor @t UiEt AT I &+ Bt B
SR HY 1 T8 T8l 3

Tt gRT SaRa gafdu &t A s9b gR1 Y
wrafdd gafaa @ aer § ot 81 gt W ugen
et g B A BT AT 71% FTBT T8 3R
IgHEA GRT AT HR foar Srar 81 /9 U
Y SfARe H TGN 81 W1 51 Sfd: HUH 2 Tl
!
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88. Answer D 88. IR S

e Closure Motion: It is a motion moved by a THIYE UAT9: I8 T & gHe fpdl amd R §89
member to cut short the d(lebat.e on a matter Pl BleT P & O e gRT U fhar mar udg
before the House. If.the motion is apprqved by 21 o ge gRI UxATd Y q@ AT A Ty
the House,. debate is stopped forth with .and P g A Fra 2 3R HA $Y IaeH ¥ i
the matter is p}lt to vote. There are four kinds T ST 2 | GEIIE TR IR UER ¥ 8
of closure motions:

e Simple Closur'e: It is one when a mefmber o IV JAY: T8 qF BidT & od BIS IS Ida
mpves that the 'matter havmg'been sufﬁc'lentl.y Bl & o ale == &) &1 ¥ §1¢ " W)
discussed be now put to vote'. Hence pair 1 is TS ST ST | SIRT S 1 9 e
correctly matched.

e Closure by Compartments: In this case, the @'[Eﬁ.%l )
clauses of a bill or a lengthy resolution are o fooal GRT TR 39 A H, S5 L= e
grouped into parts before the commencement g ot fadaes a1 ofd TRaTa & Wl ot W
of the debate. The debate covers the part as a o W foran ST 81 989 03 YN B Ha
whole and the entire part is put to vote. Hence HRA g 3R 113 HNT R HdGH HIAT ST 81
pair 2 is correctly matched. zafery sisl 2 Il 7 QA A |idt g

e Kangaroo Closure: Under this type, only o HIE JHUA: 3 UHR & dgd, had Hedquf
important claus.es are tgken up for debat? and Wl R 989 3R TaeH ¥ o fReR fawar S
voting and the intervening clauses are s.klppe'd 2 3R d ¥ TS 3 Bis T o R ik 9%
over and taken as passed. Hence pair 3 is TIRa T R S 1 SR S 3 9 e
correctly matched. e

e Guillotine Closure: It is one when the :
undiscussed clauses of a bill or a resolution o firciifesT WHIU: I8 79 B § W9 foeht fadaw
are also put to vote along with the discussed a1 JA1d & srafdd Wel @l ot w5t bt
ones due to want of time (as the time allotted HRU @i fHY T FE & WY AdeH & o
for the discussion is over). Hence pair 4 is EECIMNIGI % (Elzﬁﬁ? Iaf & fou srdfed 9T
correctly matched. AT 8 T §) | safey SISt 4 TE T ¥ Ad

LEIGI]
89. Answer C

e The Amuktamalyada of the sixteenth-century . 3R C
Vijayanagara monarch Krisnadevardya is a Tiagdl Idsdl & [IoITR 9 FUCERE &
poetic masterpiece of the highest order. It ITHTTS I=IaH HH Pt BT Hid g1 T§ AAT
stands out as a landmark in Telugu literary IR =fier & te i &1 UeR & U § @l
history, not only for its poctic beauty but also FTATEF T
becau}s/e of the yunique riligious an(i/ political % %T' 7 aa W & wﬂ @ fory Wﬁmﬁﬁ?
themes embedded within its central narrative. m § W A Ffed . mﬂ SR .
Unlike most contemporaneous Telugu poets E W%W il m ) a@m$
who based their works on Sanskrit puranas or ‘ E fardiar, foret G-I'CITﬁ‘QT:F-ﬂ'Q Tpd Wﬁ RIERECE
other Indo-Aryan mythological sources, -ﬁj 3 IR Widl TR 3ekd PUCRY A
Krisnadevaraya turned to the southern Tamil 3 3T IRUM & forw aférol i woRT @t iR ¥@
tradition for his inspiration. H 95 foai

e It is a Telugu epic poem composed by 5 5
Krishnadevaraya. Amuktamalyada describes u g ae . g1 I TP m &8l
the story of the wedding of the Hindu Lord E W H A ﬁml % STdR 1%@ HAM
Ranganayaka an avatar of Lord Vishnu and ‘ 2 ERD SR et it o sfsrer & m J 1 Gﬂ:ﬂ
Goda Devi also known as Andal. It narrates : H ST €, & f3aTg &1 St o1 qui fham 71 3
several episodes that are relevant in the ¢ @5 U TR 1 qui {1 a1 § O wre e
context of the propagation of the Vaishnava |52 F TAR-UR & Tgof o yrife g
theology |
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90. Answer D

Generally, scientists agree that an extinction
event is occurring when species vanish much
faster than they are replaced. A mass
extinction event is usually defined as losing
75% of the world's species in a short period of
geological time — less than 2.8 million years.
Hence statement 1 is not correct.

90. 3T D

AR W, IFHF 59 §1d ¥ Yedd 8 ¢ &
QT & g1 q9 gt § o Feadt yiaeiifia
B &} g H 9gd ol I T B Sl § 1 afe
fIdfey Bt gedr B AR W Yayie gAY B
BT Ay T gFaT Bt 75% Henfad! &l @H & FY
o uRyiita fear St @t gonfot @qet ok
Rt B ¥ 95% T 81 TS, ford 53% st uRaR,

o The ;’er;nleiﬁ—Trlasilcfe;tlnctlor.l (z2f5 1 Mya) 84% W TR SR 70% ’;[&[ e R IR
r e pre ive m . :
Z{i?nc?t]iois 96;‘;]0(:; a(l)l S eclioes \(Irlr(izrsinevas waeslj FRXP M %l W TS & PR S el
o pectes imarine 22 ot R 3t geTell & fiwda, o3 amfR®
as terrestrial) were lost, including 53% of .
) L . ) fagfta ama fAfafy & ORd &, =1 ¥U ¥ @Taife
marine families, 84% of marine genera, and . )
0 - Hftra el Yl S R o BT Sas-a ITANT
70% of land plants, insects, and vertebrates. .
e Unlike previous extinction events caused by 3 e g URE | e o 2 wel B
natural phenomena, the sixth mass extinction
is driven by human activity, primarily (though 91. IIB
not limited to) the unsustainable use of land, o I B a9 T GG g 2 o +235
water and energy use, and climate change. 3R -23.5 T 3wy & o9 & Rl & forw aof
Hence statement 2 is not correct. A SR ed gl
o1 A o TG AURR & T gF W RR & SW gl
. onsgerBSh dow Day i lestial phe § A Hﬁéﬁ W U >
ero Shadow Day is a celestia nomenon .
that occurs twiceya ear for laies between fore I el Tl P 1 FE &I
vear Jor p o SMOR W, YA X1 & 9 & VA R Y7
+23.5 and -23.5 degrees latitude. . .
o AR F & DI g B Y B feaw o
e On these days, the Sun is directly overhead at Y . 3
noon, resulting in objects casting no shadows SHA B I il Bidl 21 s
for a brief period of time. Hence statement 1 is T 39 . iR
correct. o X[ BRI a R fiepTef FHepife
e Generally, locations closer to the equator are Gefd et 81 39P SO, Tg q&ﬁ wR fot
more likely to experience Zero Shadow Day faRy = & wre 3 1 iy Rfd & sror
compared to regions farther away from the gI1 3, e URUmFRa=y 31 31 Srgurfa
equator. Hence statement 3 is correct. Eﬁ—cﬁ %I g 3&d & g9 Tdh CIT@"W el %I
e Zero Shadow Day is not directly related to O HYT 2 Jel T8l

the winter solstice. Instead, it occurs due to
the specific position of the Sun relative to a
particular location on Earth, resulting in the
absence of shadows. It is a natural
phenomenon rather than a celebration. Hence

statement 2 is not correct

RACE IAS

ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR
WEBSITE :www.raceias.com, i /raceiaslucknow
E-mail ID : www.raceias.2010@gmail.com

)
- d
MOCK TEST ﬂ

EXPLANATIONS m

7388114444




92. Answer D 92. 3T D

As per the recommendation of the Montford
Reforms, a Chamber of Prince or Narendra
Mandal was set up as a consultative and
advisory body having no say in the internal
affairs of individual states. It also has no
authority to discuss matters concerning
existing rights and freedoms. Hence statement
3 is not correct.

The congress allowing residents of the states
to become members of the congress but made
it clear that they could not initiate political
activities in the states in the name of Congress
but only in their individual capacity. Even in
the Haripura session in 1938, the Congress
had reiterated its policy that movements in the
states should not be launched in the name of
Congress but should rely on their own
individual capacity. Hence statement 1 is not
correct.

All the princely states were asked to sign two
agreements — the instrument of accession and
merger agreement. The instrument of
accession would accede a state to India with
only matter concerning defence, foreign
affairs and communication whereas with the
signing of the merger agreement all authority
of the state was handed over to the Indian
government. The privy purse was an
important part of the merger agreement to
convince rulers to accede their authority.
Hence statement 2 is not correct

93. Answer C

The Bureau also collects administrative
statistics under the 11 Labour Acts. With the
formulation of the four Labour Codes, the
Bureau is also proposed to be designated as
the nodal agency for the collection of
statistical returns under all four Labour Codes.
Hence statement 1 is correct.

The dearness allowance for employees and
pensioners is estimated on the basis of the
latest Consumer Price Index for Industrial
Workers, which is released by the Labour
Bureau every month. DA is provided to
government employees and pensioners
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factoring in the rising prices and the cost of
living. Hence statement 2 is correct.
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94. Answer C

The GRAPES-3 observatory located in Ooty,
India at an altitude of 2200m meter is
designed to study the origin, acceleration and
propagation of cosmic rays through the
measurement of extensive air showers,
induced by primary cosmic rays or gamma
rays entering the Earth’s atmosphere in tera to
peta electronvolt energies. It also studies solar
and thunderstorm phenomena using cosmic
ray muons. GRAPES-3 employs an array of
plastic scintillator detectors and a large area
muon detector based on proportional counters.
Hence statement 1 is correct.

The Gamma Ray Astronomy at PeV
EnergieS-3(GRAPES-3) is a ground-based
EAS experiment. It is located at Ooty, India
(11.4°N, 76.7°E) at an altitude of 2200 m
above mean sea level. The near-equatorial
placement of the experiment provides a
unique advantage for measurements covering
both northern and southern hemispheres
significantly. Hence statement 2 is correct.
The GRAPES-3 experiment (or Gamma Ray
Astronomy PeV EnergieS phase-3) located at
Ooty in India started as a collaboration of the
Indian Tata Institute of Fundamental Research
and the Japanese Osaka City University, and
now also includes the Japanese Nagoya
Women's University. Hence statement 3 is not
correct.

95. Answer C

In the Chola period, landholding was the
primary determinant of social status and
hierarchy in the predominantly agrarian
society. Hence statement 1 is correct.

Temples received land gifts known as
devadana, which were tax-exempt, similar to
brahmadeyams, making temples central hubs
of activity. Hence statement 2 is correct.
Ulukudi (tenants) were unable to own land
and were required to cultivate lands belonging
to Brahmins and vellanvagai village
landholders. Hence statement 3 is correct.
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o YRA & Het H 2200 Her &1 FHaw W RRd
GRAPES-3 JURITEAT &I o1 ¥ Uel Sadgi-alee
ol § gt & argHed H Uaw @R+ arelt
TYTAe sererd fbvul a1 T fevol g1 oRka
% arg Iu1 & AT & ATeqH Y Sererg fHror
B} I, TROT 3R TR BT AL IR & oy
fewga far T Bl GRAPES-3 WIRe®
Rifecer fSeaedl 31 T WO ok i
DGR R YR Th T & T3 &R
T IUANT B § | T HU 1 T8 &

e PeV EnergieS-3 (GRAPES-3) TR @l fahvur
T O U@ y-3netid EAS TN §1 T8
Sel, URA (11.40N, 76.7°E) H T ad F 2200
Hiex Bt $o8 W A 81 TN BT YHEREY
RM I AR gfemoft gHf menef & Ay
T Y HaR B ardl A} & 7T T a1 A
UG PR 5 | AT HY 2 el

o YRA & Hel H T GRAPES-3 TINT (@1 THT
fohRur Wi a3 PeV EnergieS TRUI-3) YRA™
et Ridt gfaRidt & Tgai ¥ T gor ok
39 399 SO TEier At fayfeem of
AT §1 3T Hu 3 T 6T B

95. 3TR C
A BT B, T U I SN G JHS & FrHTioiDh
fRUfy R yerHH &1 wmufts RuRke Y-wfia
7| ST HUF 1 T

TRt B gaeM & T4 | S o aret Y SUER
T et off, o sieiead & 9 ex-gad o, o
TR Ay & FHkla dx 99 MW TTRW HUA 2
B

IqPS! ([PTER) wHH & Afie 781 4 3R 39
SR SR ded-aTTs T & FHIMGR! BT oHH TR
Wt BT Tt off | safe By 3 I |

)
- d
MOCK TEST ﬂ

EXPLANATIONS 7388114444

ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR
WEBSITE :www.raceias.com, i /raceiaslucknow -
’ 41

E-mail ID : www.raceias.2010@gmail.com



96. Answer D
e Ultrasound is generally used to clean parts

96. 31X D
o TGS BT IUTNT M AR W GIH Ml TR

located in hard-to-reach places, for example,
spiral tubes, odd-shaped parts, electronic
components, etc. Hence option 1 is correct.
Ultrasounds can be used to detect cracks and
flaws in metal blocks. Ultrasound is reflected
from the defective locations inside a metal
block. Ordinary sound of longer wavelengths
cannot be used for such purpose as it will
bend around the corners of the defective
location and enter the detector. Hence option 2
is correct.

Ultrasonic waves are made to reflect from
various parts of the heart and form the image
of the heart. This technique is called
‘echocardiography’. Ultrasound scanner is an
instrument that uses ultrasonic waves to get
images of the internal organs of the human
body. A doctor may image the patient’s
organs, such as the liver, gall bladder, uterus,
kidney, etc. Hence option 3 is correct.
Ultrasound may be employed to break small
‘stones’ formed in the kidneys into fine grains.
These grains later get flushed out with urine.
Hence option 4 is correct.

@yt & 9% w1 & e fear S g,
IeTERu & forg, wftfa oga, faww omeR & RS,
TAdEID g, 3fe | ST fAehed 1 Tg) g

o Y & DI H WK 3R a6 BT Udl TH &

U TGS &1 IUANT fRaT ST gobar Bl
TGS YT &F &P & 3feR ugul AT I
Wrafdd 8T g1 del a¥ Sef Y TR @l
BT IUANT TH Ie=T & fore =Te1 fopam o Favall ©
Fifs I8 AWYU WM & HHI & IRI AR g
Sarft 3R feeaer H waw sl safe fawe
2 Tl Rl

o INIM® I &I gad & faftg wrll ¥

WRIgfdd HA 3R g P B4 999 F forw
ST ST 1 30 ddi &I SHIBISaThT
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g IRR & 3ffalRkes ST ot sfadl &1 U
HRA & o0 Sreer e a¥ BT IUdIT SRl 7
TF Slaex WM F SN, SN gpa, R,
THiRE, TE, IfE B Bfd T T B1 IIRIT
faded 3 TE B SIS HT IuANT ¢ H a9
B TR P IF Bl A de F o fman
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97. Answer D 97. 3t D
e Active Funds: Active funds are a type of o TfhY e: Tfhd Hg Th UBR BT B3 e
mutual fund in which a professional fund 2 Forgd T IaR he Aok I8 Al dar g &

manager makes decisions about which
individual stocks, bonds, or other assets to
buy, sell, or hold for the fund. The goal of an
active fund manager is to beat the

S & U B J AfdaTd wid, aFs a1 3
Tufat TieT, S a1 [aHt § | U fhy s
TSR &1 I8 SIATh So09 oY fb Aw 50
3R Y & TR &I Al S 71 AN
FHYF-Il T B

o I Yow: UfhT Bl B AR W Ffswg sl
@ g H 3% Yo g1 § AP d B
ToR $I faRwsan, s R ¢fET & o
3R TRT I8 PR & | ST HY-1 Tt Tl
gl

performance of benchmark indices, such as
Nifty50 and Sensex. Hence statement-II is
correct.

e Higher fees: Active funds typically have
higher fees than passive funds as they incur
more costs for the fund manager’s expertise,
research, and trading. Hence statement-I is not
correct.
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98. Answer B

Nuclear medicine is a branch of medical
imaging that wuses small amounts of
radioactive material to diagnose and treat a
variety of diseases. It works on the principle
of the function of the organ, tissue, or bone,
which differentiates it from other diagnostic
tests like x-rays or ultrasound that determine
the presence of disease based on structural
appearance. Hence statement 3 is not correct.
Function-Based: Unlike other diagnostic tests
that determine the presence of disease based
on structural appearance, nuclear medicine
determines the cause of the medical problem
based on the function of the organ, tissue, or
bone. Hence statement 1 is correct.

Safety: Nuclear medicine procedures are
among the safest diagnostic imaging exams
available. A patient only receives an
extremely small amount of
radiopharmaceutical, just enough to provide
sufficient diagnostic information. While
radiopharmaceuticals used in  nuclear
medicine contain radioactive isotopes, they
are usually short-lived and decay rapidly,
resulting in minimal radiation exposure to the
patient. Hence statement 2 is not correct.

99. Answer A

National Service and Tracking of Electronic
Processes (NSTEP) has been launched for
technology-enabled process serving and
issuing of summons. A GPS-enabled device is
given to the Bailiff for the service of summons
leading to greater transparency and speedy
delivery of processes. It provides real-time
status updates of service of summons besides
tracking of geographical coordinates of the
process server at the time of serving. It has
currently been implemented in 26 States/ UTs.
Hence, statement 1 is not correct.
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100.

National Judicial Data Grid (NJDG) gives the
consolidated figures of cases instituted,
disposed and the pendency of cases in all
courts across the country. These statistics are
updated every day by respective courts. The
website shows the number of cases filed as
well as cases pending. The visitor can access
information down to a particular case. The
pending cases divided between civil and
criminal  jurisdictions can be further
segregated into age-wise categories such as
ten years old cases, between 5 to 10 years old
cases, etc. The pendency data at the national,
state and district levels are open and in the
public domain. Hence, statement 2 is not
correct.

eCourts Services Portal: A centralised
gateway providing links to several initiatives
and services provided under the eCourts
project. It enables stakeholders such as
citizens, litigants, lawyers, government and
law enforcement agencies to access data and
information relating to the judicial system of
the country. Hence, statement 3 is correct.

Answer C

The Garbh-Ini program is a pioneering
initiative aimed at improving maternal and
prenatal healthcare for expecting mothers,
particularly in India. Hence statement 1 is
correct.

Launched under the auspices of the
Department of Biotechnology, Government of
India, this program focuses on several key
areas to enhance the well-being of pregnant
women and promote healthy pregnancies and
childbirth. Hence statement 3 is correct.
Prevention of Preterm Birth: A central
objective of the Garbh-Ini program is to
develop prediction tools and strategies for
preventing preterm birth, a significant
contributor to maternal and neonatal mortality
and morbidity. By leveraging advanced
statistical techniques such as regression
analysis and machine learning models, the
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program seeks to identify risk factors
associated with preterm labor and birth,
enabling timely interventions to reduce
adverse outcomes. Hence statement 2 is )
correct. Q
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